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frafataa 3 () uvaien o faw fader:

ferferfiae i uftesel ot afeT SR uResel o =il 31 aret
YOI o T SIFTT | 3 W99l oh o7 3119 S<R halel 3
IR=Sel T A e g =Ry |

Q1.

02

TRe3e- 1 BH 3ThET WA H o= T s o
T TA R A fTAE T R AN H GIA AL |
20 W@ & A H W, 14 6 g 9 € STeT st ai
B; 75% STHEAT STt Sl ai it aret &t | @t &,
e | ueh-Terets @ S St § e & et oot
T IWTE € | STeTaTy URadH, Siedt SHEET
TAT AT & T T2 N0 et STRINHHI0T STt
T diteRt ST SIGTE | T o WTeT o 319K,
Tl o o Afeat o fafram= ot sig &, S
TSI & Tawa 2, &g &0 T8 | g9 farT=
et st STTue & grg el /i o s e
gfea = @t gt 39 o1d | €, fw fof
(Afae) W amenfa dft | doesw &3 & oI
ST o ST STeT Al SICaRT fShaT ST | 37 STeT
T I 9T S ok 1T 3 el af+ss AuEst
% STYR UT eI AT ST 3EvI €, Toh
< Froft @t o fafdrear €, 39 W e oSt
G Fre 2, et ST S| SUST oI & 31
wiT fefat €, fra=T gerargut S feram s et
¥, uforsr § fopa SUZIT @t STavaIehaT B,
e, STHTT-AT T 3 TTH S UHTaOTT
AT et it gifed ST sravaeE € |

TR e o & R -aT U, =T feqeniat
Tl ST ShT STl ST ATk S AT i fyeia st oh
foTe waifrer g, SmaERes 3R dTchicen
THETS bl et w0 A ffaifera s e ?

(a) T % SeaR i Teh UM, aeiiies, faften
3R feraeer < = ST =Ry |

(b) o H W e G SIS SN =Ry 3R faenet
EEERENERIUIERIES B ke
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(c) T o SAET arel 8B SR STel & A e
&1l o e Ted ST S =Ry |

(d) Tl Uk o T HH % 1Y, F IR 32 <9
&S] S STeT Sl HIT HH S ST =R |

UREIE -2 FHIN 3T ht T ST | 3Tfereh
TRART AfeeTd 3R oTRT T areg WA
&Y ST & U & | STl & SAIER, THH
gRuTEEy o fSa-T Sy & 9ed o,
SEAHE 5% A 15% TTeh hHl ST E | T
T g o Taw STfieh JARHT (ST TT) |
T A T ae e, R TR ot wu |
17 g o feamt sl if gt 21 fohmg, 3T
et Hrevagut Screshar s g e, Wit d Ee
ATt AT S T Iat € Hewaqut | e
femifem aifier wee gar < w1 ® TR wuiftm
TR e WA AT oh 3T-eh HIUHI 0,
31T | ok WeAt- Tl YU st ahl et |,
A AT T HmH e e E | T uE
areieael & foTu, St STeIfireh 9Ter hITRI
T TR siferes fredt gintt, 394 wes wewergut
T WIS T ® | 3R WRe o SHifehenta
gfeehioT |, T Teh Tt gH ¢ Rred area ®
TaeaT=nfew)

79 ufiese & fafeared o frafafaa e @
I Ueh HaTaH U | Hfafsifera shars ?

(@) Tren woTeh 1 UrHr &5 § sravE gge e
ST =T |

(h) I TerehTE SHTHshH o1 oIS 99 T 31T

(c) TTEN SHIFT=e= SIS o ook ol e & |

(d) 3Tk e o foTT, Sheret shiSTel- et ShTATRY
% TR 3R GASeT R 9 e o <
TEE |

(e) T et arffen Sgfeg ol g 3rden €, $es fg
A o e 3R Ao WA I S
=Y |




www.khanglobalstudies.com

Q1.

Directions for the following 3 (three ) items:
Read the following three passages and answer
the items that follow the passages. Your answers
to these items should be based on the passages
only.

Passage-1 We often hear about conflicts
among different States in India over river
waters. Of the 20 major river systems, 14 are
already water-stressed; 75% of the
population lives in water-stressed regions,
a third of whom live in water-scarce areas.
Climate change, the demands of rising
population and the need for agriculture to
keep pace, and increased rate of
urbanization and industrialization will
exacerbate water stress. According to the
Constitution of India, water is a state subject
and not that of the Union, except for
regulation of inter-State rivers. Key to
ensuring balance between competing
demands of various stakeholders is a basin-
based approach to allocate water amongst
constituent regions and States. Allocating
fair share of water to them requires
assessments based on objective criteria,
such as specificities of the river basin, size of
dependent population, existing water use
and demand, efficiency of use, projected
future use, etc. while ensuring the
environmental needs of the river and
aquifers.

Which one of the following statements

best reflects the most rational, practical

and immediate action required to ensure
fair and equitable allocation of water to
different stakeholders ?

(a) A national, pragmatic, legal and policy
framework for water allocation should
be made.

(b) All river systems of the country should

Q2.
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be linked and huge aquifers created.

(c) Water channels between regions of
water-surplus and regions of water
deficit should be created.

(d) To mitigate water crisis, water demand
of sectors such as agriculture and
industry should be reduced.

Passage-2 More than half of Indian
women and almost a quarter of Indian men
of working age suffer from anaemia.
According to studies, they are anywhere
from 5-15% less productive than they could
be, as a result thereof. India also has the
largest tuberculosis burden in the world,
costing 170 million workdays to the
country annually. But what is just as
important as lost productivity now is lost
potential in the future. It is becoming
increasingly clear that on many measures
of cognitive ability, malnourished Indian
children perform two or three times worse
than their adequately nourished peers. For
an economy that will be more dependent on
highly skilled workers, this poses a
significant challenge. And it is one that
really should be addressed given India's
demographic outlook.

Which one of the following statements best

reflects what is implied by the passage ?

(a) Education system must be strengthened
in rural areas.

(b) Large scale
implementation of skill develop-ment
programme is the need of the hour.

(¢) For economic development, health and
nutrition of only skilled workers needs
special attention.

(d) For rapid economic growth as envisaged
by us, attention should be paid to health
and nutrition of the people.

and effective
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Q3.

04

uReda-3 wRa ¥, sifererisr fmar diaia ok Q 4.

BIS FUE &, HH N & 31 Ferard: /T 3R
T STeTATstt o HIRUT 36 STArdTyg Uferd= &
FTEY IFTHAT HIA Sl HH AT & | FAfT,
T AULIT Tl Tt ST Hehell feoh Teramg URad=
o Tfe & STIheT e | afe I Hva i g,
At oft g STerary uRerd = | I aret JeETHt sht
WIUTE & o TeTT uaied <TEt giar | 399 fue
2, SHWTAT Sl HH I ol ditel Ffshar s
& AT -1, STAaTY Uad oh ST 3TheTT
R T TR WU § | G e A S,
for e giEtea ar Hifa-fEhm sgeea
forar ST, fSraes fou &t 2 fos T &t
T A T TuTeh STIYETE 18 SITY | 3JheT oh
feTT TereroT (WAWE) T gd v ¢ fea
TETY URad o 3TEY T TS hl 37T
T2 & a1 7L, T 59 o1d T foreit @ fom 5 gem
TeTI0T B TET ¥ A1 TE | qenfy, 9 wH9w
IR o o7 Ui =T} EIaT | Hewaqui Je ¢,
& & foram Setarg uRads & @Y 2
Sifemt e fore wE @A e |

Frrafafaa o 5 @ SI-91 T, T UR=e &
TEeh G oHekd el fereh JferTgert 3T TehTe
HRIT I T TaH &0 | Hfafsifera wars ?

(o) ST IREdA o ST SFIFE SR G
I HH HH hl BRATE SR T F TFR H
TR €

(b) STeTaTy, URed= o HROT 291 H Y-ITANT Al
o Heiel H TR Aferdi § aRad= g e |

(c) ToREmt & ST Feamn 3= Sk & o
o % T Tieaifed e &g Tewqui 7 |

(d) =i, TS Bl W AT WG T B, AR
H =eT fF Toayg uRadd & ufd @fa
fafshan =g et = ol |
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ST o UTH Teh Teeal B o S Tt 57, < g
Hihe I 31 3113 S &hiet 5[ ¢ | 3Ife a8 Ug=
TG Teh SIST ST S[AT o o foTC feoat &
TTgFedeh B W Teh-Teh & (ToAT S8 9w W@
I THreRTeTar 2, aY 38 tfiresad fora e e
g ?

(a) 27
(b) 36
(c) 44
(d) 45

IS TeATTS haeT Teh T &d G I Hieh 3N
Bk U U feha aiihl & Sieh-31eh 25 T o1
Hehdl €, STeifeh I ST ol SIS it 3TTeRd 2
TRATE ?

(a) 18
(b) 19
(c) 20
(d) 21

TR U 3 OR TTwTh & 3% SYeh-3ies T Ut
W HE U aTel Sieh-3 1ok Ueh TeTthTth B ST 2 |
Ife usit Rt fAathTeRt ® aTg s 0 @ STt SiTar
2, A Frrtaned soal W R it :

1. ¥ 999 ® foh Sion-Sieh Tk I TTerd forrh |
S|
2. UH hael B8 e ¢ ST shee & 97 € HEl
AR & ST T 2 |
Suder wu H ARG/ A TR/ ?

(@) a1
(h) HAA 2
) 132
@ A1, AL
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Passage-3 In India,
farmers are marginal and small, less
educated and possess low adaptive
capabilities to climate change, perhaps
because of credit and other constraints.
So, one cannot expect autonomous
adaptation to climate change. Even if it
was possible, it would not be sufficient
to offset losses from climate change. To
deal with this, adaptation to climate
change is paramount, alongside a fast
mitigation response. Another solution
is to have a planned or policy-driven
adaptation, which would require the
government to come up with policy
recommendations. Perception is a
necessary pre-requisite for adaptation.
Whether farmers are adapting
agricultural practices to climate change
depends on whether they perceive it or
not. However, this is not always enough
for adaptation. It is important how a
farmer perceives the risks associated
with climate change.

Which one of the following statements best
reflects the mostlogical and rational message
conveyed by the author of the passage ?

(a) daptation to climate change and
mitigation response are basically the
responsibilities of the government.

(b) Climate change causes a change in
government policies regarding land use
patterns in the country.

(¢) Risk perceptions of farmers are
important for motivating them for
taking adaptation decisions.

(d) Since mitigation is not possible,
governments should come up with policies
for quick response to climate change.

a majority of Q4.

Q5.

Q6.
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Raj has ten pairs of red, nine pairs of
white and eight pairs of black shoes is a
box. If he randomly picks shoes one by
one (withoutreplacement) from the box
to get a red pairof shoes to wear, what is
the maximum number of attempts he has
to make ?

(a) 27
(b) 36
(c) 45
(d) 44

In how many ways can a batsman score
exactly 25 runs by scoring single runs,
fours and sixes only, irrespective of the
sequence of scoring shots ?

(a) 18
(b) 19
(c) 20
(d) 21

There are four letters and four envelopes
and exactly one letter is to be put in
exactly one envelope with the correct
address. If the letters are randomly
inserted into the envelopes, then consider
the following statements:

1. It is possible that exactly one letter goes
into an incorrect envelope.

2. There are only six ways in which only
two letters can go into the correct
envelopes.

Which of the statements given above is/
are correct ?

(a) 1only

(b) 2 only

(¢) Both 1and?2
(d) Neither 1nor 2
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Q7.

Q8.

Q9.

Q 10.

06

ST 85 x 87 x 89 x 91 x 95 x 96 T 100 | T

¥ A IR RITTEATE ?

(@ O
() 1
(¢ 2
@d 4

(57242) 9777531 FYUAR H TohTg oAl 31eh =T

2?

(a)
(b)
(c)
(d)
afe ABC 3R DEF <1 & 3 ikl ot S ¢,
TWUSR fF A, B, C, D, E 3R F fa= 3=
37 ¥, SHURR % ABC + DEF = 1111, AT A +
B + C+D+E+F SIATT RIS ?

o o N

(a) 28
(b) 29
(c) 30
(d) 31

D g 3 3iehi Sl §EAT 36 U 8, Toh 39 T
T THF 3T AR F AT ALAA L | D
ek o 3ieh 3T FeRTE oh 37k oh STl AT R ?

(@)
(b)
(©)
@

frafataa 3 () uyaien o fau fder:

O 0 NN O

frrafefaa @i ufesel = ufew it uiesel &
e 3T ATt WA o ST ST | 39 U9=i9T o
T 3T o) hereT 3 uR=sel wW g s
FAE Ro1IEAY

PAPER -1I

Q 11.

www.khanglobalstudies.com

URegg-1 S SeeE A gadE §HT R
ATGHEA | STAA €, o STeTaTy ol 30 Tel o Hed
T ot I9% oI uwifad ATl St &,
TNt uRads o grT wifersy ® Sfrared gem
H 1enT ferehey Tt B Hehell € AT WIS T €,
e gian & ure =&t warae fased & s
Toh oI a1 ST STRTA U ST o Sedsi= ahl ShH ToheT
T T T ok w1 A0 o g9 | HifEd g @
T T AT uRonH &% @l @ g|e
TE R, A fawer e < € | fervar Srerang uftae s
% AR H U ATIETE SIa 9 e ehl Tehal |

Frrefafiad woat # 9 HIT-91 0, A U= &
o G ek Huiieeh Sy &l HadH w9 9
Hfcifeiferd sHar @ ?

(@) N HTH IS i €, TERAE fh Al o
g 81 SIS =1 Ao | WgooT S i Yo

(b) THHAH A T ¢ foF STotarg aRkad & T& 9
el Wi e 8l |

(c) T e WrENfitenl W YR 1 3, T b hra-
ISt | e ot eiel s Yo Sfgeramget
ToTHife el 2 |

(d) e wfeeT 1 denfE afied st 2,
T SE Bl TR0 Sl Fdl T e
fopa ST =R |

TRE3T-2 UITeRuie THETST & ey Heielt
TR S A €1 ST Yol § |
TGATA! I TR I WAL hil THETE HH
B Ferelt ¥, Toheg 5 foreR sl 1O et
ST AT S | TATuT GHeIai & g 1,
ST T S0 TTe aret Wl e & 8T
TARAT STSaT ot S S & | E 39 Tareest
o fawer #, safeaa fasea o= awga: e
3R YT o STl T Thch T Hehl € | AT, FS
Teh I BIgH, MU fawmedt &l g9 & a&f
Afereh STRHULAT €l feramg St € |
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Q7.

Q8.

Q9.

Q 10.

What is the remainder when 85 x 87 x 89 x
91 x 95 x 96is divided by 100

(a) O
() 1
() 2
d 4

What is the unit digit in the expansion of
(57242)% 7531

(@)
(b)
(©)
@

If ABC and DEF are both 3-digit numbers
such that A, B, C, D, E and F are distinct
non-zero digits such that ABC + DEF =
1111, then what is the value of
A+B+C+D+E+F ?

o o BN

(a) 28
(b) 29
(c) 30
(d) 31

D is a 3-digit number such that the ratio
of the number to the sum of its digits is
least. What is the difference between the
digit at the hundred's place and the digit
at the unit's place of D ?

(@)
(b)
(©)
(@

Directions for the following 3 (three)
items:

O 0 N O

Read the following three passages and
answer the items that follow the passages.
Your answers to these items should be
based on the passages only.

Q 11.
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Passage-1 The emissions humans put into
the atmosphere now will affect the climate
in the middle of the century and onwards.
Technological change, meanwhile, could
make a future transition away from fossil
fuels cheap or it might not, leaving the
world with a terrible choice between
sharply reducing emissions at huge cost or
suffering through the effects of unabated
warming. Businesses that do not hedge
against the threat of uncertain outcomes
fail.
recklessness on climate change.

The world cannot afford such

Which one of the following statements
best the
conveyed by the author of the passage ?

reflects crucial message

(@) Businesses that cause emissions may need
to close down or pay for pollution in future.

(b) The only solution is technological
development related to the issues of
climate change.

(c) Waiting to deal with carbon emissions until
technology improves is not a wise strategy.

(d) Since future technological change is
uncertain, new industries should be
based on renewable energy sources.

Passage-2 Environmental problems cause
health problems. Substantial changes in
lifestyle can reduce environmental or
health problems, but this idea appears
almost impossible to adopt. With
environmental problems, individual efforts
can be perceived as having a negligible
effect and therefore lead to inertia. With
health, on the other hand, individual choices
can make the difference between life and
death, literally. And yet, barring a few,
there seems to be the same collective
lethargy towards making their choices.
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Q 12. FrefafEa HuAi A A H-ATTh, THUNDE R Q 14. WA I YUTIehI p, g, 1, 5, t T (AR TEN TR

Q13.

08

frrepTett ST TR aTelt Watfires difeher Jaemum
T AT 0 Q STATIT AT E ?

(a) T G9ad: YheH o U ITER T AU
¥ G A I FhAT R |

THR qAfaRoii 3R e Tareey Geel GHesii
W B A TER B HEE |

(c) TaTEeH S T8I I ST Fehell ©, 9ol & THeoi
THEARA W e | s |

IR Sra-Stel % i SR wreere gedt
T Sia S o SHiqud SRarEeTe dR-
T fqeia gl T e |

UR=ST-3 TEd ¥ AR OE SMER T AR E | FD
A o e ot ® R ot wiee o o 5
3TEST T €, ATk il SIgel TRy e ¢ |
TN HHE A H agiadl o @ 21 T6H
FEET THRT TR TEHTA saa¥emait i
g SST SilST 311 ST 8, e 3@ snfefes wrfer
I, ST TS ok feTT S7eh ST WX ol S+Id &l
B SNMATh &, STEI-oI%T ol I el THET 2 |
IR AN & forw, T Uifte s WSt des Sifd
T STTET UE Sl SIS T B @t 8, o
THTH WU & ST 8 St Sk gt ferehrT &
forT eTavTes e UIve a7 U el T
Tt g § UIEOT UR @A EiH T IR ST
w0 ¥ ¥ ¢ fon earlt @ ughhat agtua w0 |
T UIOT STl o 1% 21 ¢ | B | ot
e o &S AR B THaTsTeh [ae T el R & |
Frefataa wo= 5 9 HT-91 0, THURST &
T Bl HaTaT B U TS ST e

(a) T SIS ST ST Sl TS S &
U % & Y H g R § wEifad fma
ST T |

e W SNeIRd a7 o i faeren
feram-farwret % g ® T =feu|

(c) SUIFT AR TR Bl % < gRI
WrEraeTel o1 90T TR T SR ST =18y |
MR el TEEhoT HreififeRat <1 9T o6
o W a%gell o erifRra ek et sl et
X 37 T HIAT M |

(b)

@

(b)

(@
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A THFAH L) 9 G ¢ R I Q3 e &
Fr=faiaa w foem whifse:

1. p+q+r—s-tFAREaEITTEE |
2. 2p+9+2r—2s+tTREAETY I

ITge o A BT/ A TR/ ?

(@) a1
(b) HAA 2
© 1323
@ A1, A2

TSI HEAT P 3T 95T &1 ¢ & sk o
Frafafea w faar st

1. (p+c)/(p-c) GAE HHATR |
2. 2p+cloTmeE TRl
3. fawmeEiEsael

I FAN A A HA-BA AT E ?

(@ (a)hae 132
®) (b) e 2 3 3
© (c)hae13iR3
@ (d)1,23R3

forelt 3 3iehl ol HE&AT ABC &I D | U & T
UM% 37DD U BT €, STEf A, B, C 3R D
R YR i E 1A+ B CHIAT SRR ?

@ 18

®) 16

(c) 15

(d) T et o o i ==l fman sn
e\
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Q 12.

Q13.

Which one of the following statements

best implies the
assumption that can be made from the
passage ?

most rational

(a) We are likely to spend more money on
cure than prevention.

(b) It is the job of the government to solve our
environmental and public health problems.

(c) Health can be protected even if
environmental problems g0 on
unattended.

(d) Loss of traditional lifestyle and the

influence of western values led to some
unhealthy ways of living.

Passage - 3 Many people are not eating the
right food. For some, it is simply a decision
to stick with food they enjoy but which is not
too healthy. This is leading to an increase in
non-communicable diseases. This in turn
leads to major burden on our health-care
systems that have the potential to derail the
economic progress which is essential for the
poor to improve their lives. For others, it is
about limited access to nutritious food or a
lack of affordability, leading to monotonous
diets that do not provide the daily nutrients
for them to develop fully. Part of the reason
nutrition is under threat worldwide is that
systems are not properly
responding to nutritional needs. Somewhere

our food

along that long road from farm to fork,
there are serious detours taking place.

Which one of the following statements
best reflects the crux of the passage ?

(a) 'The scheme of Universal Basic Income
should be implemented worldwide as a
way of poverty alleviation.

We must place food-based nutrition at
the centre of our policy debate.

(¢) Nutritional status of food should be

Q 14.

Q 15.

Q 16.

PAPER -1I

UPSC CSAT 2023

improved by creating appropriate
genetically modified crops.
(d) Using modern food processing

technologies, we must fortify food items
with required nutrient elements.

Three of the five positive integers p, q, r,
s, t are even and two of them are odd (not
necessarily in order). Consider the

following:

1. p+q+r-s-tisdefinitely even.
2. 2p+q+2r-2s+t is definitely odd.

Which of the above statements is/are
correct ?

(@) 1only

(b) 2 only

(¢) Both 1and 2
(d) Neither 1nor 2

Consider the following in respect of
prime number p and composite number c.

1. (p+c)/(p-c)can be even. p-c
2. 2p-+c can be odd.
3. pccan be odd.

Which of the statements given above are
correct ?

(a) 1and 2 only
(b) 2 and 3 only
(¢) 1and 3 only
(d 1,2and3

A 3-digit number ABC, on multiplication
with D gives 37DD where A, B, C and D
are different non-zero digits. What is the
value of A+B+C?

(a) 18

(b) 16

(c) 15

(d) Cannot be determined due to insufficien
data.
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Q17.

Q 18.

Q 19.

Q 20.

10

X, Y 3R Z & "t & fmdt ot s & T,
XYZXYZ o ®0 &l 6 3iohl oht HE&T forad 95T
27

(@) HaA7 IR 11Y
(b) HEA11 313 W
() HaA7 A3 Y
@ 7,1M3139

125 FEEGH I Ueh YAThN TE o ©U H Sarerd
frT e ¥ | forea B wX TeE § ot uA g R
TCE?
(a) 27
() 25
© 21
@ 18

HEAT 11223344 % 37ehi ohi GACHATRIT ST T4+
8 3Rl & TehaT Tt TS ST Tehdt €, 39
TR fan fore afes forem Term=i a2 si 9w oiek
R U E ?

(@) 12
(b) 18
(c) 361
(d) 72

A, B, C 3TCTT- 37T Sh1H ohid §T fehelt ShTH Al
THUT: 8, 16 3 12 i A g Terd € | 3Tahett
A HIHAR T AT 2, Rl B HITAR i
I SHTAT 8, STheAT C AR hi 1T hdT 8; A
TR | 3TheTT JeTuTTa ol ShIH HTT & 3T TET
e I A S Ear 2| Frafefaa semt w
foam =it

1. IE HY TeLER B O & ST |
2. FEH 10 & & g & S |
Suger wuAl H ARG/ ATE 2/ ?

(a) a1
(b) HAA2
¢ 132
d) AWM, A2

PAPER -1I
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frafataa 3 () uvaien o feaa fder:

frafeafiaa = afteset @i ufge ik afeset &
= 21 AT U9 % ST ST | T Ag=i9n
o TeTT 3TTUeh ST ShareT 3 Ui=g] U T 3erTiRa
BRI

Reg-1 It H UgHuT i THE ¥ fues &
few <fife-frmtar o dee g o areat & foe
HA-faum g S ( ATS-3a9 WhiH) &
SRRt TN, faEmerdi, heeREy, famtor
TR I S i, 3T HS Tk o aTewl T
TfTerer ST S S TheH 3T s T TE ¢ |
3 W ot gaT Ug TE 2115 a9 | Afere WA
ATE el ATeH1 ol Teh W91 ¢; 31T 3= Ageht
HEET S Al 3 IS Wik el U | ShferaeT gert
3T S TehR el ShRT O HHTHT T eler-el o T
U TE € | Uil I CNG ST sl e
ST &9 21 PM 2.5 3R &T CO2 =T
A &1 T faudia, I ot @ g |
<ot 3 CNG 519 St 21k NO Seafsta
w0 T ol 3 oft NG ToT A s B ©
NO, % URHTUT &l HIAT &1 & | St are eafered
TEEH et (fhea 2%2) iR ermafires uguur
TdteroT | TIRE et geob €, S O TAHTET Hiersree

T g € | STAvIAT 39 A 5§ RE
W%‘aﬁﬁ%aﬁﬁamﬁmaﬁ?ﬁmﬁa
o i@ R W Suersy ®, 3 o
Wﬁﬁﬁﬁwﬁwwﬁ
fomasm |
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Q 17.

Q18.

Q 19.

Q 20.

For any choices of values of X, Y and Z,
the 6-digit number of the form XYZXYZ
is divisible by:

(a) 7 and 11 only
(b) 11 and 13 only
(¢) 7 and 13 only
(d) 7,11 and 13

125identical cubes are arranged in the form
of a cubical block. How many cubes are
surrounded by other cubes from each side ?
(a) 27

(b) 25

(c) 18

(d) 21

How many distinct 8-digit numbers can
be formed by rearranging the digits of
the number 11223344 such that odd digits
occupy odd positions and even digits
occupy even positions ?

(a) 12
(b) 18
(c) 36
(d) 72

A, B, C working independently can do a
piece of work in 8, 16 and 12 days
respectively. A alone works on Monday,
B alone works on Tuesday, C alone works
on Wednesday; A alone, again works on
Thursday and so on. Consider the
following statements:

1. The work will be finished on Thursday.
2. The work will be finished in 10 days Which
of the above statements is/are correct ?

(@) 1only

(b) 2 only

(¢) Both 1and 2
(d) Neither 1nor 2

PAPER -1I
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Directions for the following 3 (three)
items:

Read the following three passages and
answer the items that follow the
passages. Your answers to these items
should be based on the passages only.

Passage - 1 To tackle the problem of
pollution in cities, policy makers think
that drastic actions like temporary use
of odd-even number scheme for vehicles,
closing schools, factories, construction
activities, and banning the use of certain
type of vehicles are a way forward. Even
then the air is not clean. Vehicles more
than 15 years old comprise one percent
of the total; and taking them off the road
will not make any difference. Banning
certain fuels and car types arbitrarily is
not proper. Diesel engines produce more
PM 2.5 and less CO than petrol or CNG
engines. On the other hand, both diesel
and CNG engines produce more NO, than
petrol engines. No one has measured the
amount of NO, that CNG engines are
emitting. Arbitrary bans on vehicles that
have passed mandated fitness tests and
periodic pollution tests are unfair. What
is needed is the scientific and reliable
about the
pollutants on a continuing basis and the

information source of

technologies that will work to reduce
pollution from them.

1
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Q21.

Q 22.

12

frrefafaa st § ¥ SIF-9T U, 30 URwde
IR e Waitueh Jimged S deheia
Tofearel o wataw O § Hfarsited sar s ?

(a) VG HH HIA h AT e TR HAAH e
I e BT Gl € |

(b) RO I T S T RifRst S e
I T B 7TE 2l Hehell, sfceh W8 SMenia
IUNTH eIk WeTarTet 21T |

(c) STafere TG S & for T ME e et |
AR STAT ST ST =T |

(d) TSHOT H FHEA P HAT B F B F
e B YT i vgi mAEE o o
BT |

TRese-2 gurs W smes (Siuie Te-e)
T Ul @ STREaeE iR T
IUTT T & [T UiedTied it &1 Th
3Ry &Rt s fme e ==t o fapar &
3Tfofen 3 TSTferens SISt ot 3R SE g e,
i Uit araRt § @ia wafg & | ot
T v, ufassT=i o | Ser faaaraeT @ e
g i Sgrar B, Tsraes aRumesy sriered
atftreR FrayT, S=aR Hgtg 3N ISR 2 2
foraryen Ut sTE Treftere o TareT 9§, TRt
Uehe T & HIFeh, THT ¥ iR aeier faer Ruife,
3 Tt feaenfat & ufer @oT+ e fove S
F
frafafaa wemt & & ®E-91 TH, ST
fesE g e Jioadgad STHT i HaiaH
T s T e ?
(a) 3= ST et qek Ug= gffea e fava
R H T 1 Ayl TSieT € |
) GEE e e wfossE i fevaeEar @
TR |
(c) IR §1 a9R 78 AT F=d € &
T3 311 o o 99 3 |
(d) G T e A g e @ g
AR
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uftede-3 Ereft gvarfir o aRger €, T T |
o7 - faEe e ffta & € Saua aey
AT & STfaaei st AT i & 31X o7
TS % YIS & FoTe Torm werm &t €, Forerdr
o ot oo ymentert ugpet @i fHate SueTe
FaT ¢ | ETef UTe, et 3R ST T €, 317 37U
M-S & SN TeTd G HeTed T o |rel 5
ST T TR I ST ¢ | &Teft &t e ureut
T g3t o FoAT TIooT WeTe ote @ 3R whiet o
T ISTT oot ol T I hlelT e | T IS ok
I T Gt | T W o A Tk Uged o1 &,
ST ARISHal Sl AT T 2 |

frrafafaa wot § ¥ SIF-9T U, 30 URwde

BT it & Wehe ot Aaifires gferger iR

AEhEIT STHT Sl HATaH ©U | Ufd siord st

22

(a) TE MELESF ¢ R S o1 e e agg
Ste-ferfereren aen gergd e el

(b) ETER FHRTE (H-EH) WSl € 3R o SaI-
ferfereran 1 oy wEE B |

() T § ggg Sa-fafaear st w dee &
form 1 =11 =TT @it ST Wt |

(@) BRE o e Bt € foh Sro e %
STTEY TSI aet ot <Rl R | AT o |

I 7® 9® 10 =8,9011® 30=5,11X 17
®21=13%,d123 4 15HIAFMRTE?

(@ 6
() 8
© 13
d) 15
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Q 21.

Q 22.

Which one of the following statements
bestreflects the mostlogical and rational

implication conveyed by the passage ?

(a) Arbitrary curbs on vehicles to reduce
pollution are difficult to implement.

(b) Knee-jerk reactions cannot solve the
problem of pollution but an evidence-
based approach will be more effective.

(c) A heavy penalty should be enforced on those
driving without periodic pollution tests.

(d) In the absence of laws to deal with the
problems of pollution, the administration
tends to make arbitrary decisions.

Passage - 2 Good corporate governance
structures encourage companies to provide
accountability and control. A fundamental
reason why corporate governance has
moved onto the economic and political
agenda worldwide has been the rapid
growth in international capital markets.
Effective corporate governance enhances
access to external financing by firms,
leading to greater investment, higher
growth and employment. Investors look to
place their funds where the standards of
disclosure, of timely and accurate financial
reporting, and equal treatment to all
stakeholders are met.

Which of the following statements best
reflects the logical inference from the
passage given above ?

@ It

countries around the world to ensure

is an important agenda of the
access to good external financing.

(b) Good corporate governance improves
the credibility of the firms.

(c) International capital markets ensure that the
firms maintain good corporate governance.

(d) Good corporate governance paves the

way for robust supply chains.

Q 23.
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Passage-3 Elephants are landscape
architects, creating clearings in the
forest, preventing overgrowth of certain
plant species and allowing space for the
regeneration of others, which in turn
provide sustenance to other herbivorous
animals. Elephants eat plants, fruits and
seeds, propagating the seeds when they
defecate in other places as they travel.
Elephant dung provides nourishment to
plants and animals and acts as a breeding
ground for insects. In times of drought,
they access water by digging holes which

benefits other wildlife.

Which one of the following statements
bestreflects the mostlogical and rational
inference that can be drawn from the
passage ?

(a) 'The home range of elephants needs to be
a vast area of rich biodiversity.

(b) Elephants are the keystone species and
they benefit the biodiversity.

(¢) Rich biodiversity cannot be maintained
in the forests without the presence of

elephants.

(d) Elephants are capable of regenerating
forests with species as per their
requirement.

Q24. IC7T® 9® 10 =8,9¥011®30=5,11® 17
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(a) 6
(b) 8
(c) 13
(d) 15
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T ST, x g o qulieh €, SHURR fh 7x  Q 30. ABCD ®IE i 21 AB 3 CD Uedieh T Uk foig

Q 25.

Q 26.

Q 27.

Q 28.

Q 29.

14

+96 TSI T x W | x h fpa T A GUa &2

(a) 10
®) 11
(c) 12
(d) S 3

IfE p, q, r 3 18 Teh 37k ATAT T TS
ﬁ@T‘i‘%“,?ﬁ(p +q)(r +S)Wﬂﬁqﬂﬁw%?

(@) 230
(b) 225
(c) 224
@ 221

9 I 99 IR foT@ T g &I N 9HTE STt 2 |
Ifg N &t 13 | fawfse feram =g, ar viower
FITERI ?

(@) 11
b) 9
(c) 7
(d 1

9 3ieRi Y TRET TEAT T U 31 1 & |39
AT At T ST & U Fea T 2 | uftumet
T & Skl ST TTRAFITE ?

(@) 64
(b) 80
© 81
@ 100

10 | 100 T fora ST aret |t gutient # ST
ATt Tt 3Teht ST AT ST R ?

(a) 855
(b) 856
© 910
@ 911
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3T BC 3R DA U W fir feig g i €1
3 o forgell & @ fodi i forgati = viid &
R ferem R By S T Hea € ?

(a) 16
(b) 18
(c) 20
(d) 24

Trr=fafaa 5 (uter) ue=ion & fem fdor

frefafaa &= ufR=ssi & ufer &k
ufR=del & W= = arel UyAiv & S
AT | 37 wg=ien & FoTT 3rues S et B
ufi=set w € anuTia g =ife |

Tfesde-1 9Rd |, T 3TUTITse Rt & U
YOUFRIUT TAW €| YAdwRUT  SIfureRivTa:
AT &5k & UTH 2 | TUTIAehT SISTE
w1 d-GreTE | oifues ofyT WuWEur R
uRaeT ® 9T oraT g, fad gEwwT [
THTEA qAuiie 3 fuem & fow sreia
HY P TIAT ¢ | T T H AU -F-FsTt
HEl SUGE STE Tt €2 eyl w9 W, 9
SEAT H GIFHIOT (et IrufIrse o7 o1 &
sfier ), HUETT, YA RUT o UTET AR W{TE
a7 H W ¥ Ugd SUged SE uTdl €|
AT W FHe W wEAT W hIA-H
WrenfiTe watfes Sugen 8, 9% 39 T it
3 fr omftre & = ¢ (stufq wew
Safrfratuiiar & a1 781 2) 3 SHehT HeA |t
HH T & | 9RA & A 319 U &7
StafreRToi Tee 50 ufavra | fefaaars
SATET €, 3R Saudead (araaeHyE) ¥
?W%mqmmmﬁmm
|
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Q 25.

Q 26.

Q 27.

Q 28.

Q 29.

Let x be a positive integer such that 7x+
96 is divisible by x. How many values of x
are possible ?

(@) 10
() M
(c) 12
(d) Infinitely many

If p, q, r and s are distinct single digit
positive numbers, then what is the
greatest valueof (p+q) (r+s)?

(@) 230
(b) 225
© 224
@ 221

A number N is formed by writing 9 for 99
times. What is the remainder if N is
divided by 13?

(@ 11
) 9
© 7
(d 1

28. Each digit of a 9-digit number is 1. It
is multiplied by itself. What is the sum of
the digits of the resulting number ?

(@) 64
() 80
© 81
@ 100

What is the sum of all digits which
appear in all the integers from 10 to 100 ?

(a) 855
(b) 856
© 910
@ 911
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ABCD is a square. One point on each of
AB and CD; and two distinct points on
each of BC and DA are chosen. How many
distinct triangles can be drawn using
any three points as vertices out of these
six points ?

(a) 16
(b) 18
(c) 20
(d) 24

Directions for the following 5 (five)
items:

Read the following three passages and
answer the items that follow the
passages. Your answers to these items
should be based on the passages only.

Passage - 1 In India, the segregation of
municipal waste at source is rare.
Recycling is mostly with the informal
sector. More than three-fourths of the
municipal budget goes into collection
and transportation, which leaves very
little for processing/resource recovery
and disposal. Where does waste-to-
energy fit into all this ? Ideally it fits in
the chain after segregation (between wet
waste and the rest), collection, recycling,
and before getting to the landfill. Which
technology is most appropriate in
converting waste to energy depends on
what is in the waste (that is

biodegradable versus non-
biodegradable component) and its
calorific value. The biodegradable

component of India's municipal solid
waste is a little over 50 per cent, and bio
methanation offers a major solution for
processing this.
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Q 31.

Q 32.

16

Suged URedE % AR WY, feferEd
RO SIS TS &

1. TRE RN w WUEU, WEERRU 3R
GeIFRRRUT TR TSI o I BT =Ry |

2. WEEA it SR gk Sl dEifienE
STAT S 3T Bt € R i & % e
HaaH w9 Y YErd o gehd ¢ |

IUderT qAaRUTS i § R - aa 8 /2 ?
(a) a1

(b) HAA 2

© 1323

@ A1, AL2

Frrfafad woa 7 Q HI-91 T, T UR=DT &
T o Fatay U B ufatsifed sare ?

(a) RT3 IARTE ¥ HS Bl T LM &l
g

(b) AR, TRT 3G AR F Sl o S
1 Faie ey Tl R |

(c) T 3T ST Yerarehvl, SUfRTse-T-Zell
T Wl S gAREd T o ugel
HeH B

YR o TR 3 AR o S enoi

Teh AR W Holl <& / Tl T9 H IqAH
FHA o foTe gaied 8t 2 |

(@

uf=dg-2 UET graT fohar ST ¢ o sifas @t
TATHiTEd ©0 | TUATRT G AT TR
? | arafereRar @ € fom Hifer wifaes @t s
TRAH a7eft oft IRt T 3R S | At
TE 8, fraT oi SusiierT, 99 &0/, T Ha
yftre € foh I-H ST Sk foTT Tort 3D 2,
feeh THyfi-shHt IATS ol TR dlienl 9 THTA
A & 1 o S Rl BT Ug e Hehd € | STeNuT
o e, ifer e o Siferen Seltent sl o TAM 0
TS BT S €, 37a: FohaT U et i @re
W TEAHT W §, T anfamey (i)
I 3T 9 &g & Tehd ¥ | Hidquar urey
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TR, ST & TeT oeqwr %ot 31 ufaat @
TRt § VST A T aeal BiaT 8 | g THem
TEHTA Seh-31h AT H 7 &, 1l T8 ST
T IS ST HehelT € | g W, T fehar 21T
Y o5 el SEAHTS ST &, 39 H8i W oo
T o faframa wd gan g

uRede W omufa, fr=afafaa
AR TSR :

1. Sifesh Tdl ed 9§ fREE #R
ITIRIST B o fTT SRR 8 |

2. TrEmi 3R Suissl 1 gaferyr o @
verel % 9R | Riferd e ol SeRa @

S qaemuTat B A - w2/ ?

(@) a1
(h) HEA 2
© 1322
@ A, A2

Frefaiaa wo= 5 | HT-91 U, T IR &
TAEIeh T ook el &eh G erigerd, TeheiTe 31
e <9 &l Farad w0 W ufafsifer
AT ?

(@) 9Ra # SAfasd T 1 qRale T@dt &
TYT & &9 § Wediied el e s
TfReT

TS S & U i Wit e
ICEIS RS
(c) 9 H, TRt =l 3eh! Sifereh Tt &bl GRof

T o for feen-Fdem @ik W = sed
gl

(d) e Tt 1 T8 X AR AT WTed i o oy
TE B =Ry, i et off gHeh Searei & forg
% ARTH IR TR B |

(b)
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Q 31.

Q 32.

31.
following assumptions have been made:

Based on the above passage, the

1. Collection, processing and segregation
of municipal waste should be with
government agencies.

2. Resource recovery and recycling require
technological inputs that can be best
handled by private sector enterprises.

Which of the assumptions given above is/
are correct?

(a) 1only

(b) 2 only

(c) Both 1and 2
(d) Neither 1nor 2

Which one of the following statements
best reflects the crux of the passage ?

Generation of energy from municipal

solid waste is inexp-ensive.

(b) Biomethanation is the most ideal way of
generating energy from municipal solid
waste.

(¢) Segregation of municipal solid waste is

the first step in ensuring the success of

waste-to-energy plants.

The biodegradable component of India's

municipal solid waste is not adequate to

provide energy from waste efficiently /
effectively.

(@)

(@

Passage-2 There is a claim that organic
farming is inherently safer and
healthier. The reality is that because the
organic farming industry is still young
and not well-regulated in India, farmers
and consumers, alike, are not only
confused about what products are best
for them, but sometimes use products in
ways that could harm them as well. For
example, since organic fertilizers are

Q 33.

Q 34.
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difficult to obtain on a large scale in
farmers often use farmyard
manure, which may contain toxic

chemicals and heavy metals. Certain

India,

plant sprays, such as Datura flower and
leaf spray, have an element -called
atropine. If it is not applied in the right
dose, it can act on the nervous system of
the consumer. Unfortunately, how much
and when to use it are not well-
researched or regulated issues.

Based on the above passage, the
following assumptions have been made:

1. Organic farming is inherently unsafe
for both farmers and consumers.

2. Farmers and consumers need to be
educated about eco-friendly food.

Which of the assumptions given above is/
are correct ?

(a) 1only

(b) 2 only

(¢) Both 1and 2
(d) Neither 1nor 2

Which one of the following statements
best reflects the most logical, rational
and practical message conveyed by the
author of the passage ?

In India, organic farming should not be
promoted as a substitute conventional
farming. For

There are no safe organic alternatives to
chemical fertilizers.

(¢) In India, farmers need to be guided and
helped to make their organic farming
sustainable.

The aim of organic farming should not
be to generate huge profits as there is
still no global market for its products.

(@

(b)

(@
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uiese -3 e o S0l & SR ARa & Q 36. Tordt fesa o 14 shrefi W1, 20 et 11, 26 T,

Q 35.

18

W IUHNT & &Y U ©F § IS TTE |
FHRT URUTH IE g ¢ fof Sar-sre 99
3 UToes @rEvered ofw g T ¥ | eriin
AT o 918 9 T deh WTETH &l ST
ufe 9 | ek s T €, fRR oft TR
FHUITUT i AT T TATW T § FHILE
e g T | TS WU ek, BT & T A
e, fa9e o waT e &% SdeT |
gig W T, fowess uRumrasy 99 urRufies
AL/ 3TFTSI, Tedl o 37T AieaTdl o SATET
T ITERT |§ HHT S, M T uRwHar § @i
3 TToOT T WATF g8 € | 38k STfaier,
TEA, ThUT BT vemsii & 9, Jer 3R
I U WTE @ uTar e gt
F5rereh ST @ iR gIer gea ot g
Terzameit 2t Wehdt 2 |

Suded Ui & MR W, frefafaa
e U =TS TS £

1. Had forere S1edi sl shifad i & fo1g 3T
T I G e e o T8 Rl W e o
foTe werer=t i werd srfer §, vl & 3
IO <l FHIE & |

2. F9 & ®Eel W AR ¥ o w@ren e
aiRfeefirent o5 % foTT TerReHe TR B 2 |

3. WY AT oo TReprdl Mo § oo shi
RET T THEY AGTIF € | TAHH THE
N g o foTu o 3es il | SueH

(WfeHEl) 3R TR gRI TSI & forg & s
aTelt TYYe HIEd W #d ¢ 3R THfew 9
T fafaedr W foER wE & e wga @
B |

Iugerd | - i geemuTd Se g 2

(@) Haei1,2 34

(h) Ha 2 33

(c) ad 3 3R 4

@ 1,2,3 34

PAPER -1I

Q 37.

Q 38.

www.khanglobalstudies.com

28 Wit e, 38 AT 1S 3T 54 Mhg S &

frafatea weat w faam Fifse :

1. IR fe=g ¥ @ Tgfod® ¥4 W HE 9@ n e 30
TR ForehTell <d foh 39 %H-9-%H Tk n I
o Teh T UG T &, l T T T
175 %1

2. It fesd & W Tgfas €9 #E W@ m T
39 YR fenredt < {3 379 83 31 &) 9-
Y-Y Teh Tig 9T &, A m ! TaH T
167 B |

ST o A BA-/A TR/ ?

(@) a1
(h) HEA2
© 1322
@ A, A2

fE 'ZERO' & 'CHUR' & &0 § foiear ST €,
T 'PLAYER' & forr ©0 H forar s ?

(@) SOCAGT
(b)) SODBGT
(c) SODBHT
(d SODBHU

Fretafaa st w faem it

AU BATIRI
C 3R D THA AT 2 |
E 39§ 9ol B € |
F3HD BRI
. FIgUATTER |

oy 31fireh U & Safer/Afemat ot e
I ok ToTT Suer feha et ot STavehdl
2?

voRwN e
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Q 35.

Passage - 3 Food consumption patterns
have changed substantially in India over
the past few decades. This has resulted in
the disappearance of many nutritious
foods such as millets. While food grain
production has increased over five times
since independence, it has not
sufficiently addressed the issue of
malnutrition. For long, the agriculture
sector focussed on increasing food
production particularly staples, which
led to lower production and consumption
of indigenous traditional crops/grains,
fruits and other vegetables, impacting
food and nutrition security in the
process. Further, intensive, monoculture
agriculture practices can perpetuate the
food and nutrition security problem by
degrading the quality of land, water and
food derived through them.

35. Based on the above passage, the
following assumptions have been made:

1. To implement the Sustainable
Development Goals and to achieve zero-
hunger goal, monoculture agriculture
practices are inevitable even if they do
not address malnutrition.

2. Dependence on a few crops has negative
consequences for human health and the
ecosystem.

3. Government policies regarding food
planning need to incorporate nutritional
security.

4. For the present monoculture agriculture
practices, farmers receive subsidies in
various ways and government offers
remunerative prices for grains and
therefore they do not tend to consider
crop diversity.

Q 36.

Q 37.

Q 38.
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Which of the above assumptions are
valid ?

(a) 1,2 and 4 only

(b) 2 and 3 only

(¢) 3 and 4 only

(d 1,2,3and 4

A box contains 14 black balls, 20 blue

balls, 26 green balls, 28 yellow balls, 38

red balls and 54 white balls. Consider the

following statements:

1. The smallest number n such that any n
balls drawn from the box randomly must
contain one full group of at least one
colour is 175.

2. The smallest number m such that any m
balls drawn from the box randomly must
contain at least one ball of each colour is
167. Which of the above statements is/
are correct ?

(a) 1only

(b) 2 only

(¢) Both 1and 2

(d) Neither 1nor 2

If ‘ZERO' is written as 'CHUR', then how
is ‘PLAYER' written ?

(a) SOCAGT

() SODBGT

(c) SODBHT

(d SODBHU

38. Consider the following statements:
A is older than B.

C and D are of the same age.

E is the youngest.

F is younger than D.

F is older than A.

U1 iR

How many statements given above
arerequired to determine the oldest

person/persons ?
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Q 39.

Q 40.
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(a) é%m??raﬁ
(b) A A
(c) had TR H
(@)

frrefafiaa o foamm #ifsT, 5= e ik
HUA A

PR TRaR A 59 A, B,C, D, E® |

Y : E B U I GEU R ?

HoH- 1: A 3R B frarfeq Sufa € |

HuH-2: D e C = |

FUA-3:EQARD H |

FU-4: A IR CTHA T

Y U9 3R i o SR § freffad § 9 -

TR E ?

(@) HEA-1, -2 3R HUA -3 T 1 ST A
& fou T 2|

(h) HAF-1, HUA-3 3 HUT-4 Y97 H ST A %
foT Tt 2 |

(¢) G <RI e el ST 99 1 $WR o o fo7g
T E

(@) |l =RI U U9 1 IR o o fo1g g et
g

IHGHE YA 3 qE A R E:

(@) 17,37,47,97
(b) 31,41,53,67
() 71,73,79,83
@ 83,89,91,97

TrrafeRaa 3 (i) wo=iet o fore fder :

frafeafaa i altesel @i ufge o ul=sei &
= 3T ATt WYHT9T o ST SIfSTT | 39 U9Aion
o TeTT 3TTUh ST Sheret T uR=aal U &t e
R R

TRERE-1 aTTiveRl & o Taner giaseg & wiet
WHA AW & HIH dh @t aIuT rafer @
3T foRam | Sl uren TR W Wt et
JULHA TH Vg % URUTHEET a6Hd
TeATS & S STieTgRd <re uveT STafir SN
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SreiehTieTeh aed el Tfed gU | e shi T -
RO & TH uRads ¥ FHW, TT e 3
wiea wRfRefaes, Qe i onfdfs w0 9
Tt B & | i ot 5 ueet & firerer STt
2, gafeTe ueht aru =&t eited, e add et
t uTRRerfores TreTd ST | it & AT e arater
H A et

ST UR=sE o wed H, Frafaiad gaamomd

TS T &

1. HESHT A9 % SR IHT Teel S o §
3 31freh wie T ok @l 8 |

2. 95d H Ued 3T 3R oid THF a9 @ gl
HHfte o foru 3rest T8 2 1

Iued qaumuTe B A BT /AT R/ 2

(@) a1
(h) HEA 2
© 1322
@ A, A2

UR=de-2 g SUINT S&rdaT 39T AT T
IS IR ST W ATSSIS &t Teha=il AT
ST AT 8, T foreg R fiS ugmur h ww &
T TEAT © - o Uk AfVeleh 99T § Sarar
T ® TR wga et S T W @
SR ST AT H WHOT S | Uk ST W
HET AT ¢ ok ST § 122 IS SUSRT ST ot
Afyah T TN 0:4 T, S IE o7 & f
T o fHeATT T et TgeisT BT 40 UfergTe e
TS A B ST 8, STelfeh 60 ferord argreer o
@ ST & | fava ot smeft | stfres St w5
UINUT 36 THA | BT & S So BHeA IS
U & fore dfyere TggieT gaa Satel &
IYANT | IS TS § | UTSUT Y o o forg fra=it
AT AT A oA 2, IR fafem Ao
flT, T SN AT HTE T2 | 5o TRUTTHEET
AEEH AFATTS T TgA 3NTH IS BT €,
I ek Ut MHETSH 1 37T 3T TTerIahit
I €, 31 311 TR ST T2 ST UgHUT 21T &,
o gitett o Afeat ot ot (FitheRe)
3T AEY STeT T HUUT A 2|
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Q 39.

Q 40.

(a) Only two
(b) Only three
(¢) Only four
(d) All five

Consider the following including the
Question and the Statements: There are 5
members A, B, C, D, E in a family.

Question: What is the relation of E to B?

Statement-1: A and B are a married couple.

Statement-2 : D is the father of C.

Statement-3 : E is D's son.

Statement- 4 : A and C are sisters.

Which one of the following is correct in

respect of the above Question and

Statements ?

(a) Statement-1, Statement-2 and Statement
-3 are sufficient to answer the Question

(b) Statement-1, Statement-3 and Statement-4
are sufficient to answer the Question.

(c) All four statements together
sufficient to answer the Question.

(d) All four statements are not sufficient to
answer the question.

are

Choose the group which is different
from the others:

(a) 17,37,47,97

(b) 31, 41,53, 67

(c) 71,73,79,83

(d) 83,89,91, 97

Directions for the following 3 (three)
items: Read the following three passages
and answer the items that follow the
passages. Your answers to these items
should be based on the passages only.

Passage-1 Scientists studied the vernal
window transition period from winter to the
growing season. They found that warmer
winters with less snow resulted in a longer

Q41.
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lag time between spring events and a more
protracted vernal window. This change in the
spring timetable has ecological, social and
economic consequences for agriculture,
fisheries and tourism. As the ice melts earlier,
the birds don't return, causing a delay, or
lengthening in springtime ecological events.

With reference to the above passage, the
following assumptions have been made:
1. Global warming is causing spring to
come early and for longer durations.
2. Early spring and longer period of spring
is not good for bird populations.
(@  Which of the above assumptions is/are correct ?
(b) 1only
(¢) 2only
(d) Both 1and 2
(e) Neither 1 nor 2
Passage-2 A global analysis of nitrogen use
efficiency a measure of the amount of
nitrogen a plant takes in to grow versus what
isleft behind as pollution - says that using too
much fertilizers will lead to increased
pollution of waterways and the air. Currently,
the global average for nitrogen use efficiency
is approximately 0-4, meaning 40 per cent of
the total nitrogen added to cropland goes into
the harvested crop while 60 per cent is lost to
the environment, says a study. More than
half of the world's population is nourished by
food grown with fertilizers containing
synthetic nitrogen, which is needed to
produce high crop yields. Plants take the
nitrogen they need to grow, and the excess is
left in the ground, water and air. This results
in significant emissions of nitrous oxide, a
potent greenhouse and ozone depleting gas,
and other forms of nitrogen pollution,
including eutrophication of lakes and rivers
and contamination of river water.
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Q 42.

Q 43.
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Trrefafiad woet § Q@ HT-91 T, T U ®
frfea waifies qehea, glemgea iR furaes
Ha9T h HaTaT B0 H fatsiferd ears ?

BT e 3R TofeRe SRt & g, ATgee
1 31frek ga7 ST i 2 |

YA SIS SaALh! Sl IS §€ =8l el
ST Hehel, s 39 AT W grRem W
TR T T2 |

(c) 3Tfereh TSN | SIS ol TN hid el HEat
& forhedl 1 ST Y I Wl Al
Sl

TeTsE SeiTeh] o ST aTel IO Tt i
I STTE P AR (TRRE ), HA e
(TR ok St B & ST =ty |

ufese-3 aiaruT fauses: sregraeit # eruir
Sfra diferit iR Hy-|rer Setarg = @
Tewaqut Ragidal &% w7 § WA At 213 At
fagia T & iR 3T anfofers ferereat st
TITerd i €1 31t qek THRY SeraTy uRad
TR arateit 3T erl # 3 9 Ragia Ut &%
S AT el ST UTT & | =7, wneres avef
B At gaRwrfe & | qenty, Sietarg aled
T H, TH& dFTE T | & FrHTeh-
TTiTereR ARTHTT &1 30T % Uk aul § uE
fotiae uee @eT B foh Sotarg ufitadT ¥
Il safemal &l Tacial o o foTT T,
Trenfiferat i fafem fre TR suaiT &«
ST | Sterary o T # e, gerTel s e
T H HRATEA! doh Hiad el 8, dfeeh g8
TTarg URads & STIEd ST&e & AT
3Tareter 3R it 3R Jeart & forg arferafet
e AT SIS SRUT I € |

frrafafaa swot o | SF-91 T, 39 uiwe
T e Haltdeh Jleagen, Tehdia 3T
fFrrutiaes €91 o wataw w0 § nfafsifaa st e
(@) Serarg = w7 STary FRG/ Wi

foerei = feream @ = g e =iy |
(b) AR HEEE R fovd H smHE w9 9
ferdfid € i ST SR g B |

(@)

(b)

@
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(c) Ieg W& | Sietar] uRad= & R i /
ST RO &t Teesti w1 faer s
1 Teh ST~ e T € |

(d) e uRad|, @l o H  sifeae
ferehtrel <eii o RV U 8, T 36k AR
& T ITehT 31T LT 3fereh B | =R |

g HeTe P, STefdifter ®0 | HAMSTT R%
AT Tehafeg SIS X E 1 a6 § Q B Sar 21
gfe a& getes P, difter ®0 9§ GAINSTT 8%
ST Tehglg ST &0 1 a9 | Q &I SraT e, a
e @ - TR TS ?

(@) R=S
() R>S
(c) R<S
(d R<S

T fepaet &= quiter & RS9 1186 i fawifsra
U IIERA 31 ATE ?

(@
(b)
(©)
@

A ST, pp, qq 3T 2- ekt it TEad &, et
p<a<rIARE pp + qq + rr = tt0, STET tt0 IS
3-3fehl i T B, Forent sifew siw yrr €,
Trafaiea swemi w faar whifse :

1. p %G9 | H G&A 52

2. p o G9E HH o EE6

ST o A A BA-/A TR/ ?

(a) HaA 1

(h) HEA2

© 1323
@ A, A2

o0 N O
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Q42.

Q 43.

Which one of the following statements best
reflects the most logical, rational and
crucial message implied by the passage ?

() An enhanced efficiency of wuse of
nitrogen is imperative for both food
production and environment.

(b) Production of synthetic nitrogen fertilizers
cannot be stopped as it will adversely
affect global food security.

(c) Alternatives to crops that require excess of
nitrogen should be identified and cultivated.

(d) Conventional agriculture using
synthetic fertilizers should be replaced
with agroforestry, agroecosystems and
organic farming.

Passage - 3 Along with sustainable lifestyles,
climate justice is regarded as a significant
principle in environmental parlance. Both
the principles have bearings on political and
economic choices of the nation. So far, in our
climate change summits or compacts, both
the principles have eluded consensus among
nations. Justice, in the judicial sense, is well
defined. However, in the context of climate
change, it has scientific as well as socio-
political connotations. The crucial question
in the next few years will be how resources,
technologies and regulations are used to
support the victims of climate change. Justice
in climate is not confined to actions relating
tomitigation, but includes the wider notion of
support for adaptation to climate change and
compensation for loss and damage.

Which one of the following statements
best reflects the most logical, rational
and crucial message conveyed by the
passage ?

(a) Climate justice should be ingrained in
detail in the rules of all the new climate
compacts/agreements.

Q 44.

Q 45.

Q 46.
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(b) Environmental resources are unevenly
distributed and exploited across the
globe.

(¢) There is an impending issue of dealing
with a huge number of climate change
victims/climate refugees.

(d) Climate change in all its connotations is
mostly due to developed countries and
therefore their share of burden should
be more.

A principal P becomes Q in 1 year when

compounded half-yearly with R% annual

rate of interest. If the same principal P

becomes Q in 1 year when compounded

annually with S% annual rate of interest,
then which one of the following is correct ?

(@) R=8
#) R>S
(c) R<S
(d RS

How many natural numbers are there
which give a remainder of 31 when 1186
is divided by these natural numbers ?

(@)
(b)
(©)
@

46. Let pp. qq and rr be 2-digit numbers
where p< q<r. If pp + qq + rr = tt0, wher

O 0 N O

tt0 is a = 3-digit number ending with zero,
consider the following statements:

The number of possible values of p is 5.
The number of possible values of q is
Which of the above statements is/are
correct ?

(@) 1only

(b) 2 only

(¢) Both 1and 2

(d) Neither 1nor 2

23



UPSC CSAT 2023

Q 47.

Q 48.

Q 49.

Q 50.
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3fehi 1, 2, 3 3N 4 |, T 3feh § | et sfs il
forT S, o=t S |t 4 3Rt Seet
I, 2000 W HAE, TTHA FATR ?

(@ 7998
(b) 8028
(c) 8878
(d) 9238

Teh g o ©U W T 12 a&geli § 9
gieruTrerd fe9m ® 10 SHATTT a&gsil o aal ot
HETFE?

(@) 3
(b)) M
(c) 22
(d) 6

fe TS AR &, A Sieh-31k 100 af faT i
arfee ?

(@) IHAIR
(b) TEETEAR
(c) RIPAR
(d) HER

e 2tk ot 31 Tl frm s T R
AT 3R AT et | & Sgeran 8 | 88 | ATel 11
TG | Ugel et hl 25 WehUS, TR et
Y 39 YRUE 3T AR Rt Tf 60 HhUeS o T
FI T o reT TN S Sraferat WE ¥ 2:00 e
TG AT, o Teh AT B BT ST & | STt oI femdt
T U S U AT LB ?

(@) 4:00 9 FWE
(b) 4:10 I WG
(c) 4:20 5 WG
@) 4:30 99 FWE

frafafaa 3 (Fi9) uvain & fae fdwr .
Frefataa @ ufsel =t ufeu i uR=dai &
I 3T Tl UAT9TT o SR ST | 3 U9=i9it
o foTT 31TUeh ST ShaoT 3 UR=dal U e Srenfie
R R
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uRese-1 it it o wrer-arer ARy wftEt
(T, 3mg yftEl, =RemEl, enfe St weieT
Tgfaet) Sl @Te S Hid ST WrE ST 6
e Tk AT SUTTT Sl el 1T 2 | 38
ITHIOT 3T TSI Sl ol Q¥ oy fatg
T 3R iR SUQT3it T HI g & HRUTE
ATt BT @ o a9 a9 B °
HETHeh BT 2| Yfeh, aTftics wEell @t 30T,
et WEw genelt W geil § ueue Wt ur:
3TeTeh STFAT 21t 8, Tt T 219 9 ShIRUT g0 el
S STHTT ohl TTTET | A TR e AT: Ueh
TAT ST TS ol &; o ST e /et
THEET ST STATE! oh aife 3t He<aqut ANTe
FAE

FreferRad oAt § | HI9-91 U, 29 uR<se

% oREes 3N feT T gatfue gy iR

ARG TIT Rl Fartaq U H Hfdfsifera swar

27

(@) TTEOT 3R ST & 37 W o it
e STHIAT & 3 Jalt Rl W < At gait 9
A <Al =T |

(b) WA B FAHM WRET H T ¥ @ gRaq
e Te1 ot T Fehelt |

(c) 9RA § TSl H HeS & foIw SR 9ftrEt @ik
i &5 o S e TgfaE § e &
T

(@) TR FN & Afafled stean ST qe-qiy
e e ot ferenfira fope s =nfew)

uftedg-2 ufersiferl % ST / GEUENT SR
STUEET & IR H TRREHAT 3MH THEHN €, S
T o it gfifat el uferetferes Raeim st o= sraw
BT T UTSfoeh-FmTar et g ST
STUFITEE SRl STRITRA T Sl & TIATERUT U ST 31T
B €, Sk faug o enft e #w o faam =
TfiRar | ogd e Wl @ T8 €1 ufesifaes
ThereREl & 2 aTelT gWUT Sitoer aferieft ehroit
W TeT @7 & | 3iwer femtor Weislt & 9nt WE
atrorer aferirelt SraTupait o B ohl Welehl A € |
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Q47.

Q 48.

Q 49.

Q 50.

What is the sum of all 4-digit numbers less
than 2000 formed by the digits 1, 2, 3 and 4,
where none of the digits is repeated ?

(a) 7998

(b) 8028

(c) 8878

(d) 9238

What is the number of selections of 10
consecutive things out of 12 things in a
circle taken in the clockwise direction ?

(a) 3

(h) M
(c) 12
(d) 66

If today is Sunday, then which day is it
exactly on 10210 the day ?
(a) Wednesday
(b) Thursday
(c¢) Friday
(d) Saturday

There are three traffic signals. Each
signal changes colour from green to red
and then from red to green. The first
signal takes 25 seconds, the second signal
takes 39 seconds and the third signal
takes 60 seconds to change the colour
from green to red. The durations for
green and red colours are same. At 2:00
pm they together turn green. At what
time will they change to green next,
simultaneously ?

(a) 4:00p.m.

(b) 4:10 p.m.

(c) 4:20p.m.

(d) 4:30p.m.

Passage-1 Sourcing food from non-
agricultural lands (uncultivated systems
such as forests, wetlands, pastures, etc) in

Q51.
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addition to agricultural lands enables a
systemic approach to food consumption. It
allows rural and tribal communities to
sustain themselves for the whole year and
steer clear of natural disasters and season-
induced shortfalls of agricultural food. Since
the productivity of trees is often more
resilient to adverse weather conditions than
annual crops, forest foods often provide a
safety net during periods of food shortages
caused by crop failure; forest foods also make
important contributions during seasonal
crop production gaps.

Which one of the following statements best
reflects the mostlogical and rational message
conveyed by the author of the passage ?

(a) Food yielding trees should replace other
trees in rural and tribal areas and
community owned lands.

(b) Food security cannot be ensured in India
with the present practice of conventional
agriculture.

(¢) Wastelands and degraded areas in India
should be converted into agroforestry
systems to help the poor.

(d) Agroecosystems should be developed in
addition to or along with conventional
agriculture.

Passage-2 While awareness on use/misuse
and abuse of antibiotics is common
knowledge, as is the impact of dosing poultry
with antibiotics, the environmental impact of
antibiotics-manufacturing companies not
treating their waste has scarcely been
discussed at any length or seriousness thus
far. Pollution from antibiotics factories is
fuelling the rise of drug-resistant infections.
The occurrence of drug-resistant bacteria
surrounding the pharma manufacturing
plants is well known.
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W fu U waifue giemge it e
HRYT R FaTTH &0 § Hfesiferd siare ?

(@) SUIF dfE: VARl IUER Wkl ol
EATTH R |

(b) QT H qATeRONT SReehdT Sl ST ST
21

(c) SNoEr eriE SHarupeii o TER =i wed =T} femarn
ST Geohdll iR T snelfrer ffshedn Tt §
fRd 21

(@) 3o fefor suE) A dew s S IR
T ST T g & # Tenfia fRe St
=R

=g~ 3 I [uTaT ohi foremetait fYTatr o emeT
At T B §, S fawmedt e o W e
YT UTE i & SN foraneTsl Bied & | 5
S AN V UEA T G ¢, I a9E i
MR HITTEAl bl UTE H o oS & ST
HIITAT T U HAT T T Srefoaawer &
T & 7L At | 31§, 3 sivra
Hrferel W & TR g H A T TE § o
T e srelforawen & WY wen e o
T 3T B | vrerfiren ¥ uT |yte St
e aTe e, Seraw R = et
TarerTe & hIs SwAfer el ol |ehdT |

Frrefafaa o=t § @ SiF-9T U, 39 uResg
& HH o HaTTH W UTTSiTe ST & 2

(@) Towa i o= & fog, wRa =0 @it
ToTerT 378 H o1 A il a8 |

(b) TR U [q9a TIferd =Tal o Tehal Fifeh 98 A
referaee) T A o &A1 ¢ @1 SR 78 39
Heftfd s W

(¢) A e yomel § e el % SR vt
e i R ek e e St =)

(@) Tormeri % 3 a=i o Hal-fuar FRER B
3R TqurerTgut f3ren % st % W SEe E
g
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AT, ST HHi-1) & UTE Uk Soetl &1 29
Bool ahl SFUTIa fo9TT # AN S&ATaiie ()
ToRaT SITaT & | ST<aT ShHih-1 39 Soot S ol
TR 2 T UTH ShdT ¢, STeaT shrieh-2 T arel
THHTH-4 T UTH ST &, el shHieh-4 30 aieam
HHeH-7 I UTH ST 2, 3T S ohl § 28 311
e foRaT ST B O foRae uRadat (sr)
ShUTeh-1 okt THATRY) & g IE oo e |
T ShHTeh-1 H BT § BN ?

(@) 14
(b) 15
(c) 16
(d) 17

ITHAZ,Z,Y,Y,Y, X, X, X, X, W, W, W, W.
W..A HTHA IS RITE ?

(@ H
() 1
(© J
@ M

Uy FMp ST qA2 HAT-1: p x q TETE
YA H HAF-2 : p2 TSI q2 H | SUFe Uy
3R el o o o Fraferiad o & shia-91 T
TEE?

(@) TT U H IR, A T 9 A T weH H
3Tohel SUANT R T ST Tk 7, foheg TR
U T 3Tehel SUTNT R e} T T Hehell |

(b) TH YL B ST, ST H A R oft Gk e
3Tehel STANT Y o T Wehar B |

(c) T VI 1 IR, ST HUAT HT Teh WY IYANT
FR e <1 ek €, g <l § 9 Rl
U T 3okl ST R e} T T Hehell |

(@) T IR ST, ST HUAT BT Teh T SIAT
e o Tél e < Wk |
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Which one of the following statements best
reflects the most logical and practical
message conveyed by the passage ?

(a) It is necessary to put proper effluent
treatment protocols in place.

(b) It is necessary to promote environmental
awareness among people.

(¢) Spread of drug-resistant bacteria cannot
be done away with, as it is inherent in
modern medical care. companies

(d) Pharma-manufacturing should be set up
in remote rural areas, away from
crowded towns and cities.

Passage-3 Benefits of good quality school
education accrue only when students
complete and leave school after having
acquired the gateway skills. Like one
learns to walk before running, similarly
one picks up advanced skills only after
picking the basic foundational skills.
The advent of the knowledge economy
poses new challenges, and one of the
consequences of having an
uneducated workforce will be our

severe

inability to keep pace with the global
economy. Without a strong learning
foundation at the primary level, there
can be no improvement in higher
education or skill development.

Which one of the following statements

best reflects the crux of the passage ?

(a) 'To become a global power, India needs to
invest in universal quality education.

(b) India is unable to become a global power
because it is not focussing or promoting
knowledge economy.

(¢) Our education system should focus more
on imparting skills during higher
education.

Q 54.

Q 5S.
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(d) Parents of many school children are
illiterate and are unaware of the
benefits of quality education.

40 children are standing in a circle and
one of them (say child-1) has a ring. The
ring is passed clockwise. Child-1 passes
on to child-2, child-2 passes on to child-4,
child-4 passes on to child-7 and so on.
After how many such changes (including
child-1) will the ring be in the hands of
child-1 again?

(@) 14
b)) 15
© 16

What is the middle term of the sequence
Z,2,Y,Y,Y,X, X, X, X, W,W,W,W,W.,A?

(a) H
(b) 1
(c) d
(d) M

Question: Is p greater than q?
Statement-1: p + x - q is greater than
zero. Statement-2: p is greater than q
Which one of the following is correct in
respect of the above Question and the
Statements ?

(a) The Question can be answered by using
one of the Statements alone, but cannot be
answered using the other Statement alone.

(b) The Question can be answered by using
either Statement alone.

(¢) The Question can be answered by using
both the Statements together, but cannot
be answered using either Statement alone.

(d) The Question cannot be answered even
by using both the Statements together.
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q 3R r QUi ¥2 Fe-1: (p - q) TTEE B
FUT-2: (p - r) BUMEAFE |

Ut U9 3R hert o R o Frrafafaa o &
FA-ATTHTE R ?

(@) TE WY 6 IW, oA A U R U weH
el UM R A ST Hehaw €, fheg T
U T kel ST h T8 fe ST Hehell |
39 U9 1 IR, S H 9 R off U e
3Tehel TN R &2 ST Hehell €1

(c) T U H I, TEI HUA BT Th WY
STAM R o < wehar €, foheg e A W
ferdl Teh U I 3ehed IYAN w2 I e
ST Fehel |

TH U 1 IR, SFI eI 1 T Wre ST
ek A TET e S ekl |

fdt hifasist ®, 75 safemat 3 == i, 60
SfeRTIT A AT ot 317 15 SfeRaat = 9rer 31
T ST T | g o aTel TRt safer 3 =
TE A | U At I wH-9-%H Th U
yarel feram) ugm: tifawis § foraa safem
Iufera gu?

HIA-1: 50 SHfek = foran |

HYF-2:  WiquS § Suied gH are SHfeaE ot
AT hael g o aTel SR st HEA i Ui T
oft | STt w9 @I el o AR | frfeRaa 5 9
HIF-T1TF TE 7 ?

(@) T U H IR, T H I FH T FEH A
3Rl ITANT T AT ST W ®, R TR
T T 3Tehel TN 3 e} &1 T Heell |
TE W9 1 SR, SF1 A foedt off Gk e o
3Tehel STANT Y &2 ST Fehal B |

(c) TE U H ST, S HUA B TH WY
SN Y fE= S Hehe €, foheg g A 9
fordl T YT I el STAM T TE| fe
S HHT |

T W 1 SR, S HHT 1 Teh T ST
ek o TEl o ST kel |

(b)

@

(b)

(@
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TE GRS ? HIT- 1: IH G & ekl T
TN 3ieht & Tt & SRTe 2 |

HUT-2 : IE T, ST H&T o 3ichl & ANTHT
FHARH FrAfAREa o 9 faasa 2|

IUeR U9 I HUAT HT-TTTHTE S ?

(a) TE WY 6 I, oA A U R U weH
3hel UM R A S Tehaw €, g T
T T kel ST T 18] = T Heell |
39 U9 1 IR, S W 9 foRet o U e @
3Tehed STANT oY &2 ST FehaT § |

(c) TH UL 1 IR, T AT B Teh Y ST
T & < TR 8, foheg < A ¥ R U
U T 3Tehel SN R &1 & T Heell

T W9 1 IR, S HUAT ol Teh 1Y ST
ek o Tél o < ek |

uter st oh forg, Fsreent ST s o 2; Temedt oft &t
IR 3T & e 2 A T 3T T | U9 Ward
BIS el Tl G FATE ?

HYA- 1: I I Tl ahi 3T T DI Tl oot
TG ATTAL

-2 Sl sl ST 31T 8 T ¢ | Suer we
3 AT & R H Frmfefaa § @ wF-"r s
TR ?

(a) 9T HI 3R, A1 A 9 fordt T w1
3Tl 3TN Y o <11 weha €, fofeg TR
HAT B bl IUAM HY A8l feAr S
Hehell |

39 U 1 SR, S H 9 foRet W U e @
3Tehel SUANT Y = <1 Wk & |

TH U 1 I, I HYAl B Tk HA
ST I oo < wehel €, foheq ST A A
TRl Tk o T 3ehel STAN T &1 fea
ST HehdT |

TH WY 1 IR, SFI ST 1 T Grel ST
ek ot =Tt fem T Tk |

(b)

@

(b)

(c)

@
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Q 57. Question:Is(p +q-r)greater than (p-q Q59. Consider a 3-digit number.

Q58.

+r), where p, qand r are integers ?

Statement-1: (p-q) is positive.

Statement-2: (p-r) is negative.

Which one of the following is correct in respect

of the above Question and the Statements ?

(@) The Question can be answered by using
one of the Statements alone, but cannot be
answered using the other Statement alone.

(b) The Question can be answered by using
either Statement alone.

(¢) The Question can be answered by using
both the Statements together, but cannot
be answered using either Statement alone.

(d) The Question cannot be answered even
by using both the Statements together.

In a party, 75 persons took tea, 60 persons
took coffee and 15 persons took both tea and
coffee. No one taking milk takes tea. Each
person takes at least one drink.

Question: How many persons attended the
party ? Statement-1: 50 persons took milk.
Statement-2: Number of persons who
attended the party is five times the number
of persons who took milk only.

Which one of the following is correct in
respect of the above Question and the
Statements ?

(a) The Question can be answered by using
one of the Statements alone, but cannot be
answered using the other Statement alone.

(b) The Question can be answered by using
either Statement alone.

(¢) The Question can be answered by using
both the Statements together, but cannot
be answered using either Statement alone.

(d) The Question cannot be answered even
by using both the Statements together.

Q 60.
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Question: What is the number ?

Statement-1: The sum of the digits of the

number is equal to the product of the digits.

Statement-2: The number is divisible by the

sum of the digits of the number.

Which one of the following is correct in respect

of the above Question and the Statements ?

(@) The Question can be answered by using
one of the Statements alone, but cannot be
answered using the other Statement alone.

(b) 'The Question can be answered by using
either Statement alone.

(¢) The Question can be answered by using
both the Statements together, but cannot
be answered using either Statement alone.

(d) The Question cannot be answered even
by using both the Statements together.

For five children with agesa<b<c<d<e;
any two successive ages differ by 2 years.

Question: What is the age of the youngest child ?
Statement-1: The age of the eldest is 3 times
the youngest.

Statement-2: The average age of the children

is 8 years.

Which one of the following is correct in

respect of the above Question and the

Statements ?

(@) The Question can be answered by using
one of the Statements alone, but cannot be
answered using the other Statement alone.

(b) 'The Question can be answered by using
either Statement alone.

(¢) The Question can be answered by using
both the Statements together, but cannot
be answered using either Statement alone.

(d) The Question cannot be answered even
by using both the Statements together.
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Q61.

30

frafafaa 4 (IR) ugiet & faw A .
frrfafaa =w afesel @t ufge eiv aR=set
el 3T STt TYT9TT o SR GITSTT | 3 Wg=ont
¥ faT Uk IO Fae T ul=der WO
TR g =fET )

Ufee-1 fashed o forreamame st el T
H HEF 6 TR THSTAT AT R | 14901 1dTedt &
qrotteeR AT 9IRSl (Jean Buridan) ERCLE]
TTST-YTTeRT 3R 3Tah! farehedl 317 Stffyeraarait
& HNUT I H o ST F IR a2 |
SHHETT H Uk e W8 o G T &0 | TTeHHE
R ST @S 19T - 0 @ E, a9
Frofa s o e gt g e S AT g |
TN 3 Taued, 9 fof T Wi 21X
2ueie, § T oIt JEeTd gHR faahedl &l
SEATI ohl Shaled Tlel &1 shTdl & | T ehrifereferet
3T WET: STFeRaT <=1 ohT ATT-SUHNT 2T |WioTer
Hifga, sre-fiam i fasm & foe =g s
2 e Bigq, fad frofae o st wfew ot
AT 8 | SHa o1 €U faaheasa € | 379k &R &
T Sfte % 3NTehsehs faeheul ot sigarard ¢, TRt
Wt & gg @ gEt it fianra ua #

frafafaa wut & § ®HE-A1 T, Suga

e # fafeq Haitaes dhEd =<9 &l
HATaH €9 | Ufarsifed sare ?

(@) SNYFTR WENfenl ST AT ol HHESR
A 2 SR ST ol ST a8 |

(b) SMYFTE SiaA rffEaadel ek erd HieA
fershedi @ W § 1

(c) B9 EEA T W I B & 3R g s
T Tergare) sh1 STEoT 3l oh fewa =gl el |

(d) TER o ¥, 31cdd A faehed BT T3S 3!
I & @, fohg ga s fasheq B ot

AT e ST TFhaTe |

TRede-2 MRA H M asis ® IsAdiugta
Ut 3T Huer S Wifaes afeafaat § o
FRTFA F ¢ | F9d & fa=eoT &t Jerar
| F T AT & | WA dR-adet &
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ST STHTNT, AT 9 faretaentor | &t
FHE T | SEATE & WA S GhTae &, T ¢ goiE
AR, Tfsa forder Seemsit & ufq S,
TH IR H MR FEAT T 3791 foh T URaR
& T o areilt s e Herare i A hiA-
T IS €, o ufE aavaes B, at I
YRIHT & Tk & AT 721, 37 (T Tl & )
FAFTHTE

TRE] i oh faiTEehtuT o Herel |, ffaiad
FHUAT T W FIT-HhT ¥ 29 uRse ¥ ffea gt
i HaTaT w0 Uit A ?

1. Bl ol faepfiad o3 o {7 uen o=l ardrero
SATTTFH 2 |

2. UNERI % SITER 99 GU gl i TSIl ¢ |

3, o< wiefien § Favad= savas 2 |

e U T e o1 Ut oY Wl ST g :

(a) e 1 3R 2
(h) a2 3R 3
(c) ohael 133
@ 1,233

uRese-3 fwefiar Uee, Uee i arel ol Uee
1At o AT ERTUT U ot & | 0o SRt aTedt
T AT HeTd! &, 7o & garei &t #aa
Trerifta oY, S uemifareR R it 3rafar |k o feg
T Hiftra 2, fermg 2t Weha @ ST @ SeT
T | =% farvars feran stmar & 76 tee o arat
i Toam T vET U WILMUT AT Rl Ueh et
IEfyr & SR AavadHl qur FEAN 3R
T ( R&D ) & |TeaH | ATHRRT BT, Tefr
T foTT Teh T S BIell €, S fp deT sl g8
AT & foTT arterTena 31fres #ima & w0 | gt
2| TN UE U AN 3% SHiHd WeT, U
T& o SR 2T ahl ST &0 9 e Sl shiea
¥ AT |, UeT T Tt Sl FauadaT 37K
LT WX 31T AANTAT hT UFTheT UTed i
e T ar Feremug T SUeTer T 2 |
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Q61.

Directions for the following 4 (four) items:
Read the following four passages andanswer
the items that follow the passages. Your
answers to these items should be based on the
passages only.

Passage - 1 The paradox of choice is
illustrated by the story of Buridan's ass. Jean
Buridan, the 14th century philosopher, wrote
about free will and the inability to choose due
tonumerous choices and uncertainties. In the
story, a donkey stands between two equally
appealing stacks of hay. Unable to decide
which to eat, it starves to death. Changes in
technology and innovations such as smart
phones and tablets only exacerbate our glut
of choices. Constant connectivity and
overconsumption of real-time data and
social. media can leave little room for self-
reflection and rest, making decisions more
difficult. Life is about choices. Many people
are overwhelmed with attractive life choices,
yet find themselves unhappy and anxious.

Which one of the following statements
best reflects the most logical message
implied by the above passage ?

(a) Modern technology enfeebles societal
structure and makes life difficult.

(b) Modern life is full of uncertainties and
endless difficult choices.

(c) We are influenced by the opinion of
others and have no courage to follow our
own convictions.

(d) In our lives, having too few choices may
not be a good thing, but having too many
can be equally as difficult.

Passage-2 Household finance in India is

unique. We have a tendency to invest heavily

in physical assets such as gold and property.

Steps to encourage the financialization of

savings are critical. A populace accustomed

Q62.
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to traditional processes will not simply jump
into financialization. Hurdles to change
include onerous bureaucracy, a scepticism of
organized financial institutions, a lack of
basic information about which of the myriad
services and providers is best for each family,
and how (and even if one can make the
transition between them if necessary.

Regarding the financialization of

household savings, which of the following

statements best reflect the solutions that
are implied by the passage ?

1. A flexible environment is needed to
develop solutions.

2. Households need customised solutions.
Innovations in financial technology are
required.

Select the correct answer using the code

given below:
(@) 1and 2 only
(b) 2 and 3 only
(¢) 1and 3 only
(d 1,2and3
Passage - 3 Pharmaceutical patents grant
protection to the patentee for the duration of
the patent term. The patentees enjoy the
liberty to determine the prices of medicines,
which is time-limited to the period of
monopoly, but could be unaffordable to. the
public. Such patent protection offered to the
patentees is believed to benefit the public
over the longer term through innovations
and research and development (R&D),
although it comes at a cost, in the nature of
higher prices for the patented medicine. The
patent regime and price protection through a
legally validated high price for the medicine
during the currency of the patent provide the
patentee with a legitimate mechanism to get
returns on the costs incurred in innovation
and research.
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Q 63.

Q 64.
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U URweg oh SR I fefetfad qaemumd
ST :

1. YT A Tl i fo MU YT TREI0T o S,
U2 ITell qand g HH | SR kA
viferd TR W A TS |

2. 3w SaEl % U s < W iR,
fererrarstier 3k 7w 29 & fore Wi s 8

3. 3k < H olih-Tareed i feRlead e
F SNM, SHNERY F @9 98d H A
T R AT SUCTsd T HEd AeT Bl & |

4. TIHR % fU T 3avgs & i o8 udT wH
ATl & AUHRI 3R A 6 STavaehdist &
EEEEREAESARRERIR]

U GeerRuTael § A - W ae § ?

(@ 132
b)) 13R4
© 33R4
@ 233

Uf=de- 4 WRA Y, AR & dAfeRieh o
(1) True o wifam w@d gy, fefsew
sreferawen i Hgfg o gHfvea o afew)
g off TR ATaTaoT 8 wret RN e €, A e
T W STt ferdlt safert ahl ot STeeRTREt Hehe
W &, Tamade el AT | T hT Hersd T
I ATl o UTH BT et S o giea
T T; S o eI, ST A 9TE, SUAnT & fere
A, Ufqeiferd a1 Jstehd AT aTfel | T,
T GILIUT AT GRT HEt ek Sl Hauae, it
TR ohfsgd 3R Tostar-siveft &, gt B
Tl

SUged UReYE o SMUR WY, fAefarEd
RO TS TE &
1. foTa o1 Saqor O iR T B, sfeeh sHen

FfTaEn % AU e B |
2. T SR Fava & i U SMHRYd He 2 |

Iuged qaumuTei A AT AT e E ?
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(a) a1
(b) HAA 2
© 1322
@ A1, A2

ferdt ufter &, TR Ug=-USl, A P, Q, R 3RS
T | U U9T-UF & foT0 arfereraw 3k 100 &
feranfofat grr et femw T 3tek quTieRl # €1 IS
ot fermmeft n fafi=r Tt | 99% ATl T
WehaT n ST AT TR ?

(a) 16
(b) 17
(c) 23
(d) 35

TohElT &asT ol @116, &8 9T Uit 1 /9 & AT
Teft T T IUET W 9R dfas ufgEr gnr
qREfta T § | o U fafi= ade 4 28
R ST HehaT 2, 39 UK S hlE off o 31T
ufgat TR ST E T ?

(a) 12
(b) 18
(c) 24
(d) 36

forelt ST YT S AT ame W 4m 31N
Eﬁg'l's:ﬁ 2-2 m%l 140 ¢cm x 60em 3THTT i
2TEeit oht T e TersTT 2 ok ereet Teh-qa ant =
Toh | Toret oft erger ol foret oft fa=amar o oo
T HEhdT 8, STef doh SHah [T Tyl & TRl
T & ®It WX 3TRrehan fmaet 2get o1
Hehat e ?

(@)
(b)
(©)
(@

O 0 N O
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Q 63. Based on the

above passage, the

following assumptions have been made:

1. Patent protection given to patentees
puts a huge burden on public's
purchasing power in accessing patented
medicines.

2. Dependence on other countries for
pharmaceutical products is a huge
burden for developing and poor
countries.

3. Providing medicines to the public at
affordable prices is a key goal during
the public health policy design in many
countries.

4. Governments need to find an appropriate
balance between the rights of patentees
and the requirements of the patients.
Which of the above assumptions are
valid ?

(@) 1and 2

(b) 1and4

(¢) 3and4

(d) 2and3

Passage - 4 India should ensure the
growth of the digital economy while
keeping personal data of citizens
secure and protected. No one will
innovate in a surveillance-oriented
environment or in a place where an
individual's personal information is
compromised. The ultimate control of
data must reside with the individuals
who generate it; they should be enabled
to use, restrict or monetise it as they
wish. Therefore, data protection laws
should enable the right Kkind of
innovation - one that is user-centric
and privacy protecting.

Q64. Based on the

Q 65.

Q 66.
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above passage, the

following

assumptions have been made:

1. Protection of privacy is not just a right,
but it has value to the economy.

2. There is a fundamental link between
privacy and innovation. Which of the
above assumptions is/are valid ?

(a) 1 only

(b) 2 only

(¢) Both 1and 2

(d) Neither 1nor 2

In an examination, the maximum marks
for each of the four papers namely P, Q,
R and S are 100. Marks scored by the
students are in integers. A student can
score 99% in n different ways. What is
the value of n?

(@) 16
() 17
(c) 23
(d) 35

A flag has to be designed with 4
horizontal stripes using some or all of
the colours red, green and yellow. What
is the number of different ways in which
this can be done so that no two adjacent
stripes have the same colour ?

(a) 12
(b) 18
(c) 24
(d) 36
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Q 68.

Q 69.

Q70.

34

P, Q, R, S 3R T ufa =afaa &, o 9 vl
ST ol Teh SHTel |IUAT & | hiel-1 T aT P Y, 1
E Q I EIUT ST AT & | HRI-2 ATAT R Y, ATS
& HIUT ST § | S fRa TR | @i ST
HFAE?

(@) 6

(b) 12
(c) 18
(d) 24

U 2 gm, 5gm, 10 gm, 25gm, S0gm HR

AT geg e o et o fyees € | frmfafaa

HeF W fa=m st

1. 78 gm fageni =l Tlied & fou &9 9 %9 7
fgereh Tl Mawh 2 1

2. 3 eh] o1 SUAM X 78 gm AR o5 3 h
w7 | e fyeeh 398 & 90 ST 9ahd 2 1

U U B A HA-T/A T /2 ?

(@) a1
(b) HAA 2
© 1323
@ W1, AL

Frafafea W faar @it

. A+BHJATATASIEBY, T2 B
* |

. ABHIJFCATSIRISBY ITNABH
FFRABRITALBY |

M. A+BHAGTATATSIEBY, TR E
B

IV. ABHJAAT4AABRIE, 792121 ABYI

FATPxQ,P-T,T+R,R+S

s -1:Q T

e - 2: S +Q

Sugert U 3 frreenul o o o frefafaa o
A RA-TTTHTEE ?

(a) Y hee Frshs-1 Frfid g2 |
(b) AT W Fhae Frews-2 P g e |
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(¢) Ho W Frews-1 3R feed-2 21 Frfi B
gl

@) ®I Y T @ fFepd-1, T € Feed-2 i
BA R

frafafaa 3 (Fi9) uv=iot & fao 4o
FrrfeaRaa i aResel @t ufew et aiesei &
A 3T ST TYTIT oF ST AT | 7 Y9 oF
TT 3TTUSs TR Aot 39 ufiesal W Er et
TR

TReSE- 1 R |, T SRISH g Stefegawern
o 3TeY FaTe 2 IR-9IRX et fohdl ST ATt
HES €, A off Tehet 3R hieisT H sigd ATHish
I IYMAT 3T, THY TeTd qaiT fafsre grdr
2 | aTE TS SRS S qoTet ® F I Fgar
AR &% FHa W e 2, T swa
AR AT S FIHAT AT BT ¢ 3K S
IATreh U ATet THGH ! ohl STUAT |l h1dl oh feTT
Wl A o 3AfreR dear fexara €| wrestiren
AT ST TYTeIT aret ST o fere ST <t
I el Afiek B, 3R Sed gT firerm % =W
SIS &t g ferail et ST aRT I & 1
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Q 67.

Q 68.

Q 69.

A rectangular floor measures 4 m in
length and 2-2 m in breadth. Tiles of size
140 cm by 60 cm have to be laid such that
the tiles do not overlap. A tile can be
placed in any orientation so long as its
edges are parallel to the edges of the
floor. What is the maximum number of
tiles that can be accommodated on the
floor ?

(@)
(b)
(©)
(@

There are five persons P, Q, R, S and T

O 0 N O

each one of whom has to be assigned one
task. Neither P nor Q can be assigned
Task-1. Task-2 must be assigned to
either R or S. In how many ways can the
assignment be done ?

(@) 6

(b) 12
(c) 18
(d) 24

There are large number of silver coins
weighing 2 gm, S gm, 10 gm, 25 gm, 50 gm
each. Consider the following statements:

1. To buy 78 gm of coins one must buy at
least 7 coins.

2. To weigh 78 gm using these coins one
can use less than 7 coins.

Which of the statements given above is/
are correct ?

(@) 1only

(b) 2 only

(¢) Both 1and 2
(d) Neither 1nor 2
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Q 70. Consider the following:

.  A+Bmeans A is neither smaller nor equal to B.
Il. A-B means A is not greater than B. III.
AxB means A is not smaller than B.
ll. A<+B means A is neither greater nor
equal to B.

IV. AB means A is neither smaller nor
greater than B.

Statement: P xQ,P-T, T+ R,R S

Conclusion-1: Q + T

Conclusion-2: S + Q

Which one of the following is correct in respect

of the above Statement and the Conclusions ?

(a) Only Conclusion-1 follows from the
Statement.

(b) Only Conclusion-2 follows from the
Statement.

(¢) Both Conclusion-1 and Conclusion-2
follow from the Statement.

(d) Neither Conclusion-1 nor Conclusion-2
follows from the Statement.

Directions for the following 3 (three ) items:

Read the following three passages and

answer the items that follow the passages.

Your answers to these items should be based

on the passages only.

Passage - 1 InIndia, while the unemployment

rate is a frequently used measure of poor

performance of the economy, under

conditions of rising school and college

enrolment, it paints an inaccurate picture.

The reported unemployment rate is

dominated by the experience of younger

Indians who face higher employment

challenges and exhibit greater willingness to

walit for the right job than their older peers.

The unemployment challenge is greater for

people with secondary or higher education,

and rising education levels inflate

unemployment challenges.
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Q 72.
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T TR H oIE@S® S FeT dEdr €, 39
frrafafaa woat § @ S-G9 U, Faifees
e a0 § ufafsfaa sars ?
(a) Tpeil 3R Hicisl | AHiHT 3= € ifehT Rren
T TUTER T S E |
(b) RIS <l o ARarE B fAfed 9 o sedt
&% f31en 3R renianail & el & w9 § <@
ST AR |
(c) Torener T H SUSTIR <A} ol FHEISTT A
% fTT 1S 9~ &Il oTet ST A B |
(d) TeT el  Tgfaa w9 9 ifkfeqa fee
S e difer Riferd <t o e T-TeR
TR |
fiese-2 “faam e o vate @ 8, s o
e oft Uk o7 3T Foraae Sawert 21T STavas
T St TSIl ot W Y 31X 3% Ueh oTed oY
3T FrEfa = | e oft urgTeRH diek AR |
AT L AT FehelT, 3R TS AT & T AW
TraifRa =&t fwar o & | faae = faaer
JMAYTHAT 2, T & U ATk Teglerall ol
fargeiwuT 3R ST TSI 3K URUTHT @
[T 3Hh foaT Sig off faa |agt & gnmi
Stk faA = ot €t e, TR ahl o1t g9iF ok 21T
o SRIUT YT TSl 2 | ST ot Tarstr o6 arer
Bk TE G &, ST THTHHFAAT Rl TSTHITT &
| & Wehel T AR ulber | e 2
AT, 1 o TR 3R ararferdeh TereT shid g |
ek S, TS Sl A (areh STeal iR Stia 9
Yereh EIehY AT Skl STTEUT UifEeIane s+ Sirar
, 3t e faa 3R g9t | ger gt TsTie
T STTET Teh HT9Teh SToTaRe B sieet Sl
2

Trrefafad oAt § § -7 U, 39 uesg

TN e Walleh diicheh, Jloaged 30N

TRk HA9T ohl HaTaH ©F H Ufdfaifele shidr

27

(a) 3T ISTHHRT <61 ST TG 3R it
e o sreft-ifer wf¥iferd e = steveeh &,
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IR 5= Sraet yftreheli, Sf¥reat oIk wesdli &
g aivie firel T |
b) TE dwa T T R Wer sqwe-fug
o et = el T T e ) g e iR
ot sfgman wfafsifea it &
(c) <k TSTHHT / AHETE TS % € SE €,
TSt o Teh U f31eq FoTedt o B dis §
S 7o e I 9gd w9 39 W & SWfw
g5l 3R ersifes fid | wikierr 1 W Hea
Sl
(@) T8 dier © o |eft asifent o el B
ot 3T 2, qfeh 37k i et~ IqE B
3R 39 VR TAIS & oAU FEis=quf qer St
=l
UResg-3 ‘ST 1 3T e @R U W
TEAT T, T IRt 20 W FRif e g
wifeen UET 2T 8 Rt &2 safem war & ga @,
iR o T GRaw & AT, R TGe AT A
TSI Sl &1fer uge for, ST ok o ohrel oY ek |
T AT SrewTaT &, TS ol W8T gfgaa wirat
I GG ugratt 3R Aelial & st ST e & |
TE T, 3TF IR W N IAF T W
TETE e A § Gt ST | 98 T B,
I s faae % AR S 3N S9
TSR | AT hl A A ST ATfeh o STq=T 9TferT
W YU, e 3N BA-Hue § AL T Y, T &
Teh-TEN & UfdT STk il i |7




www.khanglobalstudies.com

Q71.

Which one of the following statements
most likely reflects as to what the author
of the passage intends to say ?

(a) Enrolment in schools and colleges is
high but there is no quality education.

(b) Unemployment must be seen as a
function of rising education and
aspirations of young Indians.

(¢) There are no labour-intensive industries
to accommodate the huge number of
unemployed people.

(d) The education system should be properly
designed so as to enable the educated
people to be self-employed.

Passage-2 ‘‘Science by itself is not
enough, there must be a force and
discipline outside the sciences to
coordinate them and point to a goal. It is
not possible to run a course aright when
the goal itself has not been rightly
placed. What science needs is philosophy
the analysis of scientific method and the
coordination of scientific purposes and
results; without this, any science must be
superficial. Government suffers,
precisely like science, for lack of
philosophy. Philosophy bears to science
the same which
statesmanship politics
movement guided by total knowledge

relationship
bears to

and perspective, as against aimless and
individual seeking. Just as the pursuit of
knowledge becomes scholasticism when
divorced from the actual needs of men
and life, so the pursuit of politics
becomes a destructive bedlam when
divorced from science and philosophy.”
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Q 72. Which one of the following statements

best reflects the most rational, logical
and practical message conveyed by the
passage ?

(a) Modern statesmen need to be well
trained in scientific methods and
philosophical thinking to enable them to
have a better perspective of their roles,
responsibilities and goals.

(b) It is not desirable to have Governments
managed by empirical statesmen unless
well mixed with others who are grounded
in learning and reflect wisdom.

(c) As the statesmen/bureaucrats are the
products of a society, it is desirable to

(d) have a system of education in a society
that focuses on training its citizens in
scientific method and philosophical
thinking from a very early age.

(e) It is desirable that all scientists need to
be philosophers as well to make their
work goal-oriented and thus purposeful
and useful to the society.

Passage - 3 “The last end of the state is
not to dominate men, nor to restrain
them by fear; rather it is so to free each
man from fear that he may live and act
with full security and without injury to
himself or his neighbour. The end of the
state, I repeat, is not to make rational
beings into brute beasts and machines. It
is to enable their bodies and their minds
to function safely. It is to lead men to live
by, and to exercise, a free reason; that
they may not waste their strength in
hatred, anger and guile, nor act unfairly
toward one another”
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Q7s.

Q 76.

Q77.
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UGS URTE o MR W feaiad uel o 9
HIT-HT Ueh, T & U 1T Bl Faraq &4 &
T AT E ?

(a) AT GR&T

(h) IR 3R G e
(c) WTHEIHh TAH
(d) T

2392 T 6 T/ HRT I UT ITTheT ST 2T 2

(@ O
(b) 1
(¢ 2
@ 4

39T ABC_ _ ABC_DABBCD_ ABCD W
faar =ifs, s for we fafyea ufoen =
AT AT |

Fraferfiae o & hI9-91 T, T 31T &l T
FATE?

() DACB
(h) CDAB
(c) DCCA
(d) DDCA

AB 3R CD 2 3jehi ATl &M E I ABH CD &
T[UTT ¥ TR U 3 37ehi chl §&AT DEF UT
ZIdt T 1 DEF &t 377 3 3l &t &1 GHI &
AT A 975 MA BT IMIAH A, B, C, D, E,
F,GHIRT & IaRE=0,F =8, A +B
+ C fradeerR g ?

(@)
(b)
(©)
@

YT TR P, Q, R, S 3R T o & frefafad
AT TR e FifT, R 8 e e E iR
Teh AT AL |

T 6 P 3R Q T Ueh, el o for =1 7 |

O 0 N O
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ST FHEA R 3R S T W FHH-T-H Teh, T o o1

<1 T
A FUT: R, S 3R T H 9 3ifeh-g-31fres <, el

o ferg g |

Frrfafaa & | Sa-a1/8 fresd freer s
THdTe | A ST Ewa § ?

1. o 7T E-T-h1 IR T 96 T |
2. HIHME % U T T

o U T she o1 Ut oY Tl ST g :

(@) a1

(b) HAA 2

© 132

@ AW, A2
. UM f9T P, Q, R, S 3 T uier e €, 30
TR fom:

I. P EIE, QMRS TAR

. AR RAS TAR, AT AT
Frafafea & 9 wa-ar/d frses fremr s
T e/ ST aEHa E ?

1. ARTIAE, AP IR R H W FH-T-F9 TH

YT FFIR |

2. IRQUHE, AP THR

i TS 1T e SRl TET o et ST YT :

(c) a1

(d) Had 2

(e) 1322

@ A, A2
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Based on the above passage, which one of
the following terms best expresses the
ultimate goal of the state ?

(a) Personal safety

(b) Communal harmony

(¢) Health of body and mind
(d) Liberty

What is the remainder if 2192 is divided
by 6?

(@ O
(b) 1
(¢ 2
@d 4

Consider the sequence ABC _ _ ABC_
DABBCD_ ABCD that follows a certain
pattern. Which one of the following
completes the sequence ?

Q78.

() DACB
(b) CDAB
(¢) DCCA
(d) DDCA

AB and CD are 2-digit numbers.
Multiplying AB with CD results in a
3-digit number DEF. Adding DEF to
another 3-digit number GHI results in
975. Further A, B, C, D, E, F, G, H, I are
distinct digits. If E= 0, F=8, then what is
A+B+C equal to?

(@)
(b)
(©)
@

Consider the following statements in
respect

O 0 N O

of five candidates P, Q, R, S and T. Two
statements are true and one statement is false.

PAPER -1I
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True Statement: One of P and Q was selected
for the job.

False Statement: At least one of R and S was
selected for the job.

True Statement: At most two of R, Sand T
were selected for the job.

Which of the following conclusions can be
drawn ?

1. At least four were selected for the job.
2. S was selected for the job.

Select the correct answer using the code
given below:

(a) Tonly

(b) 2 only

(¢) Both 1and 2

(d) Neither 1 nor 2

Let P, Q, R, S and T be five statements
such that:

I. I. If P is true, then both Q and S are
true.

Il. II. If R and S are true, then T is false.
Which of the following can be
concluded ?

1. If T is true, then at least one of P and R
must be false.

2. If Qis true, then P is true. Select the
correct answer using the code given
below:

(@) 1only

(b) 2 only

(¢) Both 1and 2

(d) Neither 1nor 2
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Q79. 7cm x5 cm x 3 cm ARSI aA TR oA Q 80. ¥Ied “INCOMPREHENSIBILITIES” &

ShHIT: 7 cm X Sem, Sem x 8cm 7 cm x 3 cm

Tammatt aret TWE weTehi o Uich JTH hi 1eT,

T 3R et [T | [0 M 7| A9 29 T A

HIEH Uedeh 1 cm WS o Tafi= O 37T &

gq%m%lmﬁ@ﬁmﬁﬁﬁw—mmw
£ 9

1. U9 S-S 15 B wA & e forelt off vt
WHE TR

2. W dw-Sieh 6 B T © e diep-Sieh |
T, T et SR g e A T gU €

i U 1T e ST TET o et ST YT :

(@) a1
(b) HAA 2
© 1322
@ A1, AE2
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3T ST TUTHTEAT & Ufaei T ohi & &1 SITaT €
37T / 3TeRt ol famaeit Reerfer / Rearferat sraftafda
TRATH/TET?

(a) Tt =) ot =&

(b) ThHH

© AR
(d) <A
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Q 79. A cuboid of dimensions 7cm x5S5cm 3cm  Q 80. The letters of the word
is painted red, green and blue colour on
each. pair of opposite faces of dimensions
7cm xS5Scm,5cm x 3cm, 7cm x 3 cm

“INCOMPREHENSIBILITIES” are arranged
alphabetically in reverse order. How many

. L. positions of the letter/letters will remain
respectively. Then the cuboid is cut and

unchanged ?
separated into various cubes each of side. @ Noﬁe
length 1 cm. Which of the following ¢
. (b) One
statements is/are correct ?
(c) Two
1. There are exactly 15 small cubes with no (d) Three

paint on any face.

2. There are exactly 6 small cubes with
exactly two faces, one painted with blue
and the other with green.

Select the correct answer using the code
given below:

(@) 1only

(b) 2 only

(¢) Both 1and 2
(d) Neither 1 nor 2
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